B-1 FHEAME B RIRE (H20)
B i~

I 8.1mg/L~10mg/L
- : 5.1mg/L~8.0mg/L
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&1 TROFEMTKERERERBER

TR KDKE 58 %ol a2 IE H

#* A w9 oo | B -] PR T 73 13- 74 R .
REOES L B PN A P e R T R B D B o I o L Do e R P O B el 5T =+
% ol | e w2y |m=E K 1t APV DY) S Ly | Y
< o B 1% |57 sy | i |P92{P0T dar|nrs|nzs|uu | TFY T2 &[TV M| i | 3 | R
N b = Ay |FLy o v |y vlAY 7 =%
SEHFH# 1] 1] 11 1 1 11 235( 235 536
mﬁ%g BHAFHK 1 213 70 284
(GH) e
BE A 206 | BEEBR 1 3 3 7
E% wmEEmy | AR | 9] 9] 79] 79] 79[ 79 11] 86| 86| 86| 86| 86| 86| 86| 93] 93] 82| 76| 76| 76| 86| 85| 162] 149] 79 2,144
5 TTA) BEFFH 7 2| 2 123] 99| 61 314
-y FAEM R 162 | HERBHK 3 1 2| 4 1 1
AR B R | R E 2 2
SIE BHFHFE R 20 20
(N&) i
FE AR 20 Ei@BH 0
E i RIAE %E#Eﬁ 35 99 99[ 13 113 96 13 125 60| 23 676
. (M&) BREHPFH 33 3[ 17] 2 37| 67 2 125 60| 23 369
#A REH P33T | HAERBH 26 2| 5 5| 23 1 44| 46| 2 154
t REHFEIMER | AEFHFH 1 22| 18] 16 29| 18 104
- HE BEAFHK HEIE 7| 12 24
2 (Ke) N
Y FEthag. e | BEEBH 0
~ 5 = #
5 o gy o0 %E#Eﬁ 36 36
B ﬁ%g BEAFH 36 36
T (AS) .
mEMEY 36 | EFBEK 8 8
ERHEEDREE %E#Eﬁ 57| 57| 57 57| 57 57 24| 24 390
(SH) BHAFHK 1 4 19| 10 34
S R 2L 81 HAERBH 3| 3 6
SAEHFH | 79 79| 79] 79] 114] 79 11] 86| 87| 86| 275] 271] 183] 86| 303] 275] 82| 76| 76| 76| 167] 85| 582] 468 102 3,886
it BEHFH 40 6| 18] 4 46| 86 2 536| 239[ 84 1,061
EER B 29 2l 5 5| 25 1 60| 56 3 186
i B R
REEEAE [mg/LLLT] 0.01 f,’“ 0.01{0.05| 0.01 |0.0005 éfh 3,’“ 0.02|0.002[0.004{0.02[0.04] 1 |0.006|0.03]|0.01]0.002(0.006{0.003[0.02|0.01|0.01] 10 [ 0.8 1
AYA TELN [ 70N
& & |2

XEEBOREHFROENGEH
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&2 %ﬁiﬁ*ﬁ%iﬂ%ﬁﬁ(mﬁ)I:Blf%fﬁf{%ﬁ@#ﬁi@ﬁiﬂ

A& 2% ZDHh
EAR(BRER|BHE |BAK (BEE FHEA (BRER |BREE AKX BEE FFHEA (REXR | BRHE |BAXK (BEE
MES R |BOK) (%) [#(R) (%) [#(R) |BOK) (%) [B(KR) (%) [#(R) |8 OK) (%) [#(K) (%)
1,1-¥°9001FLY 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
YA-1,2-"900IFLY 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
1,1,1-bJHA0T4y 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
MJYonIFLY 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
Fh590RIFLY 11 1 9.1 1 9.1 2 1 50 1 50 9 0 0 0 0
NI 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
WEMERRUEREEER 235]  213] 906 3 1.3 125 114] 912 0 0 110 99 900 3 2.7
AoE 235 70] 2938 3 1.3 125 41] 328 1 0.8 110 20|  26.4 2 1.8
s 536] 284] 530 7 1.3] 262 156] 59.5 2 08] 274 128]  46.7 5 18
F-3 FREHAR(TR)IZHITAREBEAEDEEKR
& EXL % FDith
AEXR | RER | BREER|[BEK ([BEXRFAEAR (BREA (BREE EAK |EAE AIEAR | REX |REE |BAXK |Eax
MES BU(AR) |BOCKR) (%) [BU(R) (%) [B(R) |B(K) [(%)  [BU(KR) (%) [#(R) |B(K) (%) |#(K) | (%)
I 79 0 0 0 0 29 0 0 0 0 50 0 0 0 0
EP 79 0 0 0 0 29 0 0 0 0 50 0 0 0 0
£ 79 0 0 0 0 29 0 0 0 0 50 0 0 0 0
FNfisnh 79 0 0 0 0 29 0 0 0 0 50 0 0 0 0
fit= 79 7 8.9 3 3.8 29 0 0 0 0 50 71 140 3 6.0
2K ER 79 0 0 0 0 29 0 0 0 0 50 0 0 0 0
7L )LKER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PCB 11 0 0 0 0 2 0 0 0 0 9 0 0 0 0
P 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
gk k% 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
1,2-")an14y 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
1,1-¥'9001FLY 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
YA-1,2-4"900IFLY 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
1,1,1-k)900x4y 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
1,1,2-F)y00I4y 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
MJYonIFLY 93 2 2.2 0 0 31 0 0 0 0 62 2 3.2 0 0
Fh590RIFLY 93 2 22 1 1.1 31 0 0 0 0 62 2 3.2 1 1.6
1,3-79007°0A™Y 82 0 0 0 0 31 0 0 0 0 51 0 0 0 0
7974 76 0 0 0 0 25 0 0 0 0 51 0 0 0 0
YUY 76 0 0 0 0 25 0 0 0 0 51 0 0 0 0
FAA VLT 76 0 0 0 0 25 0 0 0 0 51 0 0 0 0
AUty 86 0 0 0 0 31 0 0 0 0 55 0 0 0 0
LY 85 0 0 0 0 29 0 0 0 0 56 0 0 0 0
BEMMERR U ERBITER 162 143] 883 2 1.2 81 81| 100.0 1 1.2 81 62| 765 1 1.2
SoF 149 99| 66.4 4 2.7 81 45| 556 0 0.0 68 54| 794 4 5.9
ESES 79 61 71.2 1 1.3 18 11 61.1 0 0 61 50 820 1 1.6
Wz 2.144] 314 146 11 0.5 801 137]  17.1 1 0.1] 1,343 177] 132 10 0.7
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K-4 ERERFE]

BN RERAE (NR) ISH T HRBEED BB

F& £ 5455 £ it
RAER [REAR |REE (EAK BAR HER REA |REE (BB BAR HAER REA |REE EaX | EA%
HmEH B(E) |B(A) [(%) |#(K)[(%) [B(E) [BAX)[(%) |#(EK)[(%) [8E) [B(AX)[(%) |#E)[(%)
BB ERERUERBIEES 20 20[ 100.0 ol 00 1 1{ 100.0 0 0 19 19| 100.0 0 0
&t 20 20] 100.0 o[ 00 i 1] 100.0 0 0 19 19] 100.0 0 0
x5 FERMRFE MR [CETHIRBEEDEBKIR
R EL 1545 Z it
HAER|BREAR |[REER BAA (BAR HEA REAR RER EEX (EEX HER RER |REER |BAX (EA%R
ME % B(E) |B(K) [(%) |#(R) [(%) [H(E) [B(KX)[(%) |BE)[(%) [#E) [#X)[(%) |#EK)[(%)
LIS 35 33] 943 26] 743 8 7] 875 4] 500 27 26] 963 22| 815
1,1-Y"JA0TFLY 99 3] 30 2| 20 24 0 0 0 0 75 3] 40 2| 27
Y2-1,2-"9)00IFLy 99 17] 172 5| 5.1 24 0 0 0 0 75 17] 227 5| 6.7
1,1,1-t))ARTEY 13 2| 154 o[ 00 2 0 0 0 0 11 2| 182 0 0
M)7o0IFLY 113 37| 327 5| 44 26 12] 46.2 1 338 87 25| 287 4 46
Th5YA0TFLY 96 67] 69.8 23] 240 16 11] 6838 2| 125 80 56] 70.0 21] 263
AVEY 13 2| 154 1 77 1 0 0 0 0 12 2| 167 1 8.3
BEMERRUERBIEESR | 125] 125 1000 44] 352 50 50| 100.0 17] 340 75 75| 100.0 27| 36.0
Y S 60 60 100.0 46 76.7 24 24| 100.0 21| 875 36 36| 100.0 25|  69.4
ESES 23 23] 1000 2| 87 10 10[ 100.0 1l 100 13 13] 100.0 1 1.1
&t 676 369] 546] 154 22.8] 185] 114] 61.6 46] 249] 491] 255] 519 108] 220
F-6 BRHFAFRDMXEAE (KR SHITHIREEAED B BN
R £ 545 Z it
HAER|BREA |[REER BBA (BAXR HEA REAR RER BEX (EEX HER REER |RER |BBA (BB
MEH BUAR) | B(AK) (%)  [B(K) [(%) [B(E) [B(E) [(%) [#E)|(%) |#E) 1K) (%) [#EX) (%)
gL 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0
1,1-Y")AATFLY 22 3| 136 0 0 8 1] 125 0 0 14 2| 143 0 0
YA-1,2-"90A1FLy 18 1] 56 0 0 6 0 0 0 0 12 1] 83 0 0
1,1,1-p))ARIEY 16 1] 63 0 0 7 0 0 0 0 9 1] 111 0 0
M)7onIFLY 29 7] 241 0 0 11 2| 182 0 0 18 5| 278 0 0
75700171y 18 12] 66.7 0 0 5 2| 400 0 0 13 10] 76.9 0 0
#Et 104 24] 231 0 0 37 5[ 135 0 0 67 19 284 0 0
&1 HEMARE AR CETHRBEEEDEBRKIR
F& £ 545 £ 0t
RER [REAR |REE (BB BAR HER REAR |REE (B8 BAR HAER REA |REE EaX | EA%
HmEH B(E) |B(A) [(%) |#(E) [(%) [B(E) [BAX) (%) |#(EK)[(%) [#E) (X)) [(%) |#X)[(%)
R ERERUEMBIEES 36 36( 100.0 8l 22.2 21 21] 100.0 4l 190 15 15| 100.0 4l 26.7
wa 36 36] 100.0 8] 222 21 21] 100.0 4] 190 15 15] 100.0 4] 26.7
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&8 FRHAFEDMRAE (SR)ISHE T DIRFEAEDEB KR

F& £ 5455 £ it

RAER [REAR |REE (EAK BAR HER REA |REE (BB BAR HAER REA |REE EaX | EA%

HmEH B(E) |B(A) [(%)  |#(K) [(%) [BE) [BAX) (%) |#(EK)[(%) [8E) [BAX)[(%) |#E)[(%)
1,1-Y"anIFLY 57 0 0 0 0 21 0 0 0 0 36 0 0 0 0
YA-1.2-5 00T FLY 57 0 0 0 0 21 0 0 0 0 36 0 0 0 0
1,1,1-hy90018Y 57 1 1.8 0 0 21 0 0 0 0 36 1 2.8 0 0
hyynaIFLy 57 0 0 0 0 21 0 0 0 0 36 0 0 0 0
7t59m0T5LY 57 4] 170 0 0 21 2| 95 0 0 36 2| 56 0 0
NVEY 57 0 0 0 0 21 0 0 0 0 36 0 0 0 0
WEEERRUERRIEES 24] 19| 792 3| 125 1 0 0 0 0 23] 19| 826 3] 130
ok 24] 10| 417 3] 125 1 1{ 100.0 1{ 100.0 23 9] 39.1 2| 87
W& 390[ 34] 87 6] 15] 128 3[ 23 i 08[ 262 31] 11.8 5[ 19




£-9 WMTKERREZEBGMA—F

HPF 7K HERR | RERE |#FgEl
mrH || R g EE | G
&S | £A8 [mg/L] | [meg/L] [m]
th SR A G-6 | H2086 Tll";ﬁ'i” 0.09 001 | FB8 |gxam
H20.6.11 1.2
Aok 0.8
H20.10.29 1.8
th & T T-21 15 |EHRA
H20.6.11 3.7
[F5% 1
H20.10.29 4.2
H20.6.9 1
BREERET | T-45 S0k 0.8 10 [B5#3F
H20.10.27 1.1
H20.6.3 0.02
T-52 109 |BEfRA
H20.10.21 0.021
BEATH JEOET IS 0.01
H20.6.3 0.022
T-53 135 |B5fRA
H20.10.21 0.023
H20.6.24 0.025 "
M-5 8 MH
H20.10.7 - 0.058
7h790R
X Ly 0.01
H20.6.24 0.011 "
M-6 8 MH
H20.10.7 0.027
H20.6.23 0.89
H20.114 [ 0 1
RE M-20 171y 0.01 100 TR
H21.1.28 0.55
H21.3.10 0.84
H20.6.24 0.041 "
M-34 60 |T%H
H20.10.15 . 0.051
praps 7h790R
{ER Ly 0.01
H20.6.24 0.021 -
M-35 FHA | 3
H20.10.15 0.036
- 195 - RIEEERB




X % HF Rk 5E FERR | BEEE (#rzE .
b2
&5 £AH [mg/L] [mg/L] [m]
H20.6.23 | | | opon 0.038
5Ly 0.02
H20.11.4 0.039
RE M-37 18 |EB%H
H20.6.23 byyoR 0.099
T3y 0.03
H20.11.4 0.099
H20.6.17 [ 21 oo 0.1 004
H201045] TV 0.11
ARIEET M-39 40 M
H20.6.17 sr5900 0.026 oo
IFby )
H20.10.15 0.024
H20.6.17 [ 21 o 0.071 004
H201045| TV 0.084
= HT M-41 60 M
H20.6.17 sr5500 0.017 oo
IFby )
H20.10.15 0.021
H20.6.16 =y 0.013
R M-101 4y 0.01 80 |ER¥MMA
H20.10.7 0.01
H206.23 | 4 o ppp 0.035 002
IFby :
H20.11.4 0.039
M M-117 B | #HAH
H20.6.23 p)y00 0.067 003
IFby )
H20.11.4 0.086
= M-128 | H20.6.30 ME 0.013 0.01 50 | #A
JT=HT M-129 | H20.6.30 mE 0.038 0.01 90 | #A
FRILEEERET| M-131 | H20.6.30 e 0.011 0.01 45 |T¥%RA
JECIHET M-135 | H20.6.30 Ht& 0.027 0.01 130 |8k
E£ZBET | M-137 | H206.30 Ht& 0.018 0.01 41 MF
JI D ET M-138 | H20.6.30 ME 0.027 0.01 40 | #H
SR YEMET M-139 | H20.6.30 ME 0.018 0.01 40 | #H
H20.6.16 - 0.01
L@E [ mM-150 Tty 0.01 80 | #H
H20.10.7 0.012
H20.6.16 - 0.064
IMLUET | M-152 Tty 0.01 80 |EK#H
H20.10.7 0.066
H20.6.16 - 0.039
i) M-154 Tty 0.01 100 | #A
H20.10.7 0.033
- 196 - BERERB




HPA &K RERR | BEEE (srge
mrH (| R g HE " M
E5 F£AH [mg/L] [mg/L] [m]
BEET | M-170 | H206.30 e 003 001 120 | #F8
smEaEr | M-171 | H2066 e 0012 001 REE |
AT M-172 | H20.6.30 B& 0.021 0.01 41 4 F
hgEMAT | M-173 | H20.6.30 e 0.037 001 130 | #F
H20.6.20 | curerememn | 14
EERT | M-202 Egﬁ;%;é@” 10 150 |z22m
H20.10.6 1 14
H20.6.20 | curerememn | 14
FEJIET | M-204 5%%%;@*;” 10 - | #m
H20.10.6 1 14
H20.6.20 15
M-206 130 |smm
H20.10.6 13
H20.7.2 |12
WEET | M-207 "’g’iﬂﬁ%ﬁé’? 10 14 |22m
H20.10.30 =1 12
H20.6.20 14
RERTh M-210 80 |MEHR
H20.10.6 15
H20.6.20 |12
RERT | m-219 "’g’?ﬁ%ﬁg‘g 10 80 |&RHF
H20.10.6 =1 14
H20.73 | vreriemaoc| 12
KEER | M-220 "’%’ﬂﬁ@ﬁf:%&; 10 150 |e2xm
H20.10.30 =1 13
H20.6.27 | curerioem o c| 22
miEr | m-223 ""?Eﬂ%;f:g&; 10 30 |mzm
H20.10.30 =1 20
H20.6.27 | curerioem o c| 22
R P o0 | o [rum
H20.10.30 =1 18
H20.72 | veerioem—oc| 13
INRILET | M-232 E;ﬂ%;f:%é” 10 120 |22m
H20.10.30 =1 11
H20.73 | rerienn | 10
KERET | M-236 "’%’ﬁfﬁfﬁ&; 10 150 |22
H20.10.30 =1 12
- 197 - IRIEEERE



HF K HERR | BRERE |#FgEl
mrH (| R g =1 T M
&= £AH [mg/L] [mg/L] [m]
H20.6.30 12
M-253 70 |(BX%H
H20.10.31 12
H20.6.30 14
M-254 50 M
. . H201031 f pupeppem x| 19
H20.6.30 = 16
M-261 50 M
H20.10.31 17
H20.6.30 11
M-262 8 |ErMH
H20.10.31 11
H20.6.30 | s rpin e 12
AIMETHE| M-266 ﬁgﬁ;ﬁfﬁ; 10 60 | P
H20.10.31 = 12
H20.6.25 0.019
M-304 | H20.9.9 Rty 0.008 0.01 8 |&uKH
H20.12.16 0.006
REARTH I\SEET | M-315 | H20.6.5 A% 0.99 0.8 50 #HA
M-317 0.94 50 M
M-318 0.86 70 |E2#E
A FEET H20.6.5 A% 0.8
M-319 1 40 M
M-320 1.2 55 |#ER
|ACHE [ M-321 H20.6.5 Ao% 0.97 0.8 — 4t F
M-322 1.4 — MM
B ESET H20.6.6 A% 0.8
M-323 1.4 — s
M-325 1.2 — s
M-326 0.82
M-327 0.89 70 s
JIIC BT H20.6.6 A% 0.8
M-328 15 — 4t F
M-329 1.2 10 £%F
M-331 1.2 30 |EXERA
- 198 - BERERB




HPA &K RERR | BEEE (srge
mrH (| R g HE i S
&5 F£AH [mg/L] [mg/L] [m]
M-333 14 58 s
FRIERT H20.6.6 AIo%k 0.8
M-335 15 80 s
WILZEERET| M-337 | H206.6 Aok 1 0.8 48 |BrHA
AEART™
sl mEr| M-339 | H206.6 P 1 08 L ES:
H20.8.7 =y 0.015
EAFNol| T-25 4y 0.01 65 |EUAIA
H20.11.5 0.010
—RKHET M-61 H20.9.16 1Z5% 1.3 1 R | &rF
“RKXEHE| M-62 | H209.16 So% 18 0.8 ER | &k
T-1 H20.9.9 BE 0.011 0.01 27 | #A
M-1 % 0.015 0.01 BB | #MH
J\RKTH FTEHEZB] M-2 % 0.011 0.01 BB | #ME
B W& 0.054 0.01
M-51 H20.9.9 B | #HAH
Rt - 0.97 0.8
. M-61 A% 0.88 1 55 | A~EH
FTHESHREE
M-62 % 0.03 0.01 50 MM
AEH rEKET | o5 | H20821 fﬁg’ﬁgﬁ%@” 14 10 13 | ®m
RE M-3 | H209.11| THZ0%R 0.014 0.01 30 | M
- g
HmE M3 H20.9.11 “%’ﬁjﬁﬁ@g 10 10 0=
M-34 ™ 16 14 | &H
s _ WEEEERS
Eith A-6 H20.12.3 | " rupeprze s 22 10 30 s
kS A-11 | H20.12.3 fg’ﬁ%ﬁfgéu 16 10 13 | &
e _ WEHEEERS
REW &Kk A-23 H20.12.2 | T pupeprae e 14 10 7 s
e A-26 | H20.12.2 fg’ﬁ%ﬁfgéu 14 10 0 | 2
BHE A-29 | H20.12.2 ‘T’fﬁgﬁfgéu 14 10 6 | #mH
& A-36 | H20.12.2 fgﬂﬁé@” 15 10 53 | #H
- _ WEEERRS
T A-37 | H20.12.3 | " rupeprat e 12 10 4 s
e A-39 | H20.12.2 fgﬁgﬁ;é@” 1 10 10 | #m
- 199 - EERAEER



HF K FERR | RERE |#rgE|
mrH (| R g HE " M
&= £AH [mg/L] [mg/L] [m]
2] T-2 H20.8.20 N 3.4 0.8 65 M F
M-1 0.42 83 IT%
FIRA M-2 | H20820| TI77%° 0.045 0.01 70 | %P
M-3 0.018 30 T%
EF&£&T (A
B& 0.011 0.01
ST M-41 H20.8.20 45 T
Aok 2 0.8
s M-51 H20.8.20 Ao% 3.4 0.8 70 M
SRESF M-52 | H20.8.20 ERE - 1.2 0.8 80 4 F
| T-2 H20.8.20 A% 16 0.8 50 M
A
) M-51 H20.8.20 T 0.81 0.8 42 (B*%A
FEETHAE| M-51 | H20.8.26 So% 4 08 40 | &xAR
C|%HERTARE| M-52 | H20.8.26 E 5.7 0.8 50 |&r#A
wh s _ WEEEERS
BERTMK M-53 | H20.8.26 | “Fruperrwes 11 10 50 | #%FR
WWEE™ | D |EAETHHE| M-51 H20.8.28 ERE - 0.88 0.8 70 | &kF
BERETIER| M- H20.9.1 ME 0.015 0.01 60 | #%FR
ERETEAS[ M-2 H20.9.1 M=% 0.016 0.01 60 | #%FR
_ WEEEERS
E| BERHETIA M-5 H20.9.1 | " pupeprae s 14 10 12 M F
. ~ WEEEERS
sl M-6 H209.1 | "G pumerszess 12 10 30 | #xA
_ WEHEEERS
=g:: M-7 H209.1 | "G pumerszess 14 10 70 | &
Al @ M-7 | H20826 | B 0.035 0.03 45 | &
- M-51 15 100 | #xF
% " A
- MEEEERY
B [tWEINEFE M-52 [ H208.28 | "riugeees 12 10 60 | #rA
M-53 15 70 | &
tExR M-26 | H20.9.25 Atk 0.035 0.01 40 4
FtmH =150 M-83 | H20.9.25 Aok 1.2 0.8 BH | &
FE S ET M-84 | H20.9.25 Ao% 0.98 0.8 55 £%F
H20.9.29 | —urpin o 12
G-8 ey 10 | T8 | T8
K& B RTHEFD H20.12.10 = 14
A
_ WEERERS - -
LEXEM S-3 H20.12.8 | "G rupepszeze 12 10 8 | Feg
KEBEET M4 | H20920| T 0.054 0.01 7 | %
= : _ WEERERS
C|iEFETHEE| M-33 |H20.10.15 BN ER 13 10 7 M F
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HPA &K RERR | BEEE (srge
mrH (| R g HE " M
&5 £AH [mg/L] [mg/L] [m]
HVERTE M| M-10-5 | H209.24 |  T177%° 0067 | 001 50 |
c
WERTIAE M-31 H20.9.24 A% 16 0.8 30 s
FiH
INNETEBI[ M-1 H20.9.29 B& 0.011 0.01 85 | #F
D
MIBTAEERE]  M-2 H20.9.29 BE 0.017 0.01 80 | T%
—D=EHT M-51 H20.9.11 AoE 0.87 0.8 150 |B%H
A
—DER M-52 | H20.9.11 0%k 0.88 0.8 120 | &%F
Ral &k T PN M-52 | H20.9.11 A% 1 0.8 133 | &k
B R4 M-53 | H20.9.11 Ao% 5.3 0.8 8 |BX%H
FrIK M-54 | H20.9.11 A% 3.4 0.8 150 | #xF
A| &l | M3 [Heoto6 | TEZ7E 0.015 0.01 4 | A
~ WEEEERS
. AHETAETF| M-33 |H20.10.21| Fnzaors 18 10 6 MH
ABETFEEl M-34  |H20.10.21 Rt - 0.81 0.8 60 | #F
F | A<ET 8 N M-1 H20.10.7 Atk 0.012 0.01 20 2
; ~ WEEEERS
XEM |H|RFBTEFE| M-33 | H20.10.7 BRI 21 10 8 3 F
ME 0.012 0.01
BiE - 9. -
I |xz=erEsEd| M-31 | H20.9.24 CETEE S0 " 8 MF
EREEER
H20.8.20 33
J | AEETER S G-3 SoFk 0.8 50 3 F
H20.12.10 3.4
T-1 14 90 | #A
. ~ MEEEERY
A 15 M=31 | H209.16 | "Frzerrot s 19 10 100 | #xF
M-32 11 BB | &xHE
o _ HEBEERRY
=] S M-33 | H209.16 | "Fruzerat o 11 10 90 | #A
FERE - 1.7 0.8
BRE M-51 H20.9.9 33 | #HA
B F5% 1.7 1
n _ WEERERS
HrE M-52 H209.9 | “Frmeeess 14 10 9% | #F
- 201 - RIFE B




HF K FERR | RERE |#rgE|
mrH (| R g mg | S
E5 F£AH [mg/L] [mg/L] [m]
2E M-7 H20.9.17 & 0.045 0.01 30 | #A
INEER M-12 | H20.9.17 & 0.029 0.01 20 2 F
e 0.035 0.01
_ M-16 | H20.9.17 30 | &m
=E5HT Ao% 0.9 0.8
AR M-17 1 20 | #H
M-18 | H20.9.17 S 085 08 20 | #H
M-19 18 30 M
M-31 y 11
EBMEERY
ZEHT | A th 2R H209.9 |“rsrers 10 60 | &M
M-32 15
i LG H20.9.11 “g’ﬁ;ﬁ@g 10 10 13| MR
RIMET M-1 - 16 13 MM
=% M-2 H20.9.11 T 1 0.8 60 s
VALZVIEE | 0,001 0.04
M-16 | H20.8.26 *I”;’ff 0.042 003 FEA | 4
T 0.092 0.01
M-18 | H20826 | TI77M 0.015 0.01 30 | #A
\ M-19 | H20826 | I 0.06 0.01 32 | #A
FKET | A iIH P o vy
M-21 | H20.8.26 i : : 33 | A
- 7t57mm 0.12 001
IFLY . .
Th 0.25 0.01
M-22 | H208.26 "“f;lff”” 0074 0.04 O | #A
S 0.057 0.03
Ik M-31 | H20.8.21 fg’ﬁgﬁfgéu 12 10 55 |&mIE
WEAHET K3 M-52 | He08.21 |FHEEEERT 4 10 70 | &k
85 M-53 | H208.21 fg’ﬁgﬁfﬁ; 11 10 80 | &k
— Al —HE M-1 [ H20.9.29 Sk 3 0.8 T8 | &A
ERA
B b= M-51 H20.10.1 Y 1.3 0.8 90 oy
- B M-31 H20.9.16 RIS RU 11 " 12 oy
A M-53 | H209.16 | EREAIEER 30 g | %M
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H#h il oK FERR | RERE |#rgE|
T4 X4 15H A&
= £2 | £AR8 [mg/L] | [me/L] | [m]
ST %5} M-1 | H2093 [ IR 0065 | 001 10 | #m
JKJIET | A HE M-2 H20.9.3 ST - 0.9 0.8 50 | #%xA
H20.9.1 2.8

Bz G-1 EE 0.8 100 | #F
H20.12.8 2.7
BREEFT
H20.9.1 1.9
=HEZ G-2 Ao 0.8 100 | gkA
H20.12.8 2.8
H209.17 | .., | 14
_ WMEEERRY
BARE G-4 BN ER 10 10 M
H20.12.10 18
B di) M-31 18 8 M
MEEEERY
53 M-33 | H20.9.17 | "Frupeprae s 19 10 6 £ A
M-34 12 6 MM
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#=-10 HTF/KERAEHER
1-1 FRERAE (GR)

= g -, 3 - —KI ] = e y | ZE HE
il I B N P o Il Bl el R e S R I
SLtEFHT G-1_ |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 57 BXH
TR I BT G-2 |H208.6 | <0002 |<0004 | <0.0005 |<0.002 |<0.0005]<0.001 150 BXHR
;] N ET G-3 |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 100 BXHA
RER G-4 |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]|<0.001 80 A
JKE BT G-5 |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 B M
FRAT | |chog G-6 [H2086 | <0002 |<0004 |<00005 [<0.002 009 | <0001 EN; BRE |BEAT
WL KIE G-7 |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 90 M
BE G-8 [H20.8.6 | < 0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 33 R4 A
BE G-9 |H20.8.6 | <0.002 |<0.004 [<0.0005 |<0.002 |<0.0005]<0.001 50 M
I\5FH] G-10 |H20.8.6 | <0.002 | <0004 | <0.0005 |<0.002 |<0.0005]<0.001 90 A
rh 4% AT G-11 |H20.8.6 | <0.002 | < 0.004 [ < 0.0005 |<0.002 |<0.0005] < 0.001 B RER
RRF0E{Z AT G-1_ [H20.8.20 0.1 0.29 B A
EBE G-2  [H20.8.20 0.04 0.38 B M
o BN A BT G-3  |H20.8.20 091 |<o0o08 PN 2%
ST G-4  [H20.8.20 1 < 0.08 i A
EBEE G-5  [H20.8.20 0.12 | <0.08 B # F
[k G-6_ [H20.10.7 8.4 < 0.08 i A
JI[EH BT G-7  |H20.10.7 1.2 0.08 Z<ER £
Jkr | [TRED G-8  |H20.10.7 047 [<008 TBA Giidi AR
3t = FnHT G-9  [H20.8.20 054 | <008 PN 2% A
=210 G-10 [H20.8.20 054 | <008 PN %A
BS £ HET G-11_|H20.8.20 059 | <008 TH EXH
A EFHT G-12 [H20.10.7 055 | <008 PN a% A
R AT G-13 |H20.8.20 049 |[<0.08 s kA
R1&sFHT G-14 |H20.10.7 06 | <008 FER &
KEHET G-15 [H20.10.7 057 < 0.08 ABR £ F§
ESHT G-16 |H20.10.7 05 |<o008 FER &
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et |G| e | 2R | TR | swir aniges] mamy | wiy | agy | S |ewmena] 0% | PTEE | ome | G5
1| RET G-17 |H20.10.7 0.01 | <008 A A
L #rET G-18 |H20.10.7 057 | <0.08 I~BR A
b B2 HT G-20 |H20.10.7 8.1 02 FER 2
“RTKREH  |G-21 |H209.16 <001 |<o008 FER &
Z— RARHT G-22 |H20.9.16 2.6 < 0.08 TBH 5t
H AT G-23  [H20.8.20 096 | <0.08 i M
7K S BT G-24 [H20.10.7 059 | <008 34 KA
IR AHET G-1_ [H20.9.25 1.9 < 0.08 25 A
IR AHET G-2  |H20.9.25 0.83 | <0.08 20 KA
A 3R AHT G-3  |H20.9.25 < 0.01 0.3 70 % FA
IR AHET G-4  |H20.9.25 0.06 | <008 12 KA
I A ET G-5 |H20.9.25 0.82 |<0.08 16 XA
FTH G-1_ |H20.9.9 < 0.01 0.08 35 bl
FTH G-2  [H20.9.9 < 0.01 0.23 25 XA
IR | B|FTH G-3_ |H209.9 001 | <008 30 8k |REAR
FTH G-4  |H20.9.9 < 0.01 0.09 25 A
FTH G-5 |H20.9.9 001 | <008 40 il
SR T G-1  [H20.9.24 < 0.01 0.27 50 i
o |EEET G-3  [H20.9.24 1.1 0.11 25~30 A
SHET G-4 |H20.9.24 2.3 < 0.08 16 A
ST G-5  [H20.9.24 0.29 0.3 68 A
EJEL G-1_ |H20.9.1 4.6 0.08 30 A
H5HT G-2  [H20.9.1 1.3 0.08 10 A
HISHET G-3  [H20.9.1 2.5 < 0.08 50 R
D |REHT G-4  [H20.9.1 1.5 < 0.08 120 E ;]
ECL) G-5 |H20.9.1 2.3 0.1 10 A
H5HT G-6  [H20.9.1 8.4 < 0.08 10 A
HISHET G-7  |H20.9.1 1.1 < 0.08 50 R
EXCL G-8  [H20.9.1 1.7 < 0.08 7 M
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AT | D HI5HET G-9 |H209.3 1.8 < 0.08 5 ¥H
EXCL) G-10  |H20.9.1 4.1 < 0.08 5 A
=17 G-2 |H209.3 3.3 0.09 100 KA
A | FE G-3  [H20.9.3 1 < 0.08 15 A
=i G-4 [H20.9.3 < 0.01 0.47 30 KA
BE G-5 [H20.9.3 1.7 < 0.08 20 A
KIET [ B G-1  |H209.17 15 0.16 9 s
BE G-2  [H209.17 0.61 0.13 50 A
Bl g G-3  [H20.9.17 1.7 0.12 7~8 &R F
R G-4  [H209.17 1.7 0.19 7 A
HiE G-5 |H20.9.17 1.6 < 0.08 30 KA
=231 G-1  [H20.9.1 0.71 |[<o0.08 116 XA
J\/ZERT G-2  |H20.9.1 0.84 | <0.08 10 A
Al G-3  |H20.9.1 1.7 0.09 11 ¥R

&% G-4  |H20.9.1 3.2 0.14 5 RN
KiET % G-5 [H20.9.1 1.7 < 0.08 30 A
R G-6 [H20.8.21 0.06 | <008 55 KA
B G-7  |H20.8.21 071 | <0.08 25 A
R4 G-8  |H20.8.21 0.14 | <008 10 il
& G-9  |H20.8.21 1.2 < 0.08 8 A
R G-10 |H20.8.21 1 < 0.08 14 KA
QLR G-1_ |H20.9.9 1.8 0.1 20 XA
HiE G-2  [H20.9.9 15 < 0.08 64 KA
A G-1_ [H20.8.20 2.2 0.08 A
2= 4L Ey ZE G-2 |H20.8.20 0.04 0.1 A
NE:: G-3  |H20.8.20 0.06 | <0.08 42 KA
ZTE G-4  [H20.8.20 0.68 0.08 9 A
£ G-5 |H20.8.20 2.7 < 0.08 1 KA
I\ G-6  [H20.8.20 0.27 0.14 20 A
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mart | wma | R BN L nine] mnzsy | 1o | agey | " [swmees] 3% | FTRE | ma | g8
2R G-7  |H20.8.20 0.32 | <008 30 /45
Z=4Ar | B EES G-8 |H20.8.20 0.01 0.08 15 A
XA G-9 [H20.8.20 < 0.01 0.15 50 KA
i G-10_[H20.8.20 043 |<0.08 3 XA
=ik G-1  [H20.9.9 0.08 0.13 24 KA
BiE G-2  |H20.9.9 058 | <008 7~8 XA
ERAET (TR G-3  [H20.9.9 <001 |<o008 24 8%
FR G-4  [H20.9.9 <001 |<0.08 20 A
F G-5 [H20.9.9 0.05 | <008 7 KA
L FrET G-1  |H20.8.20 2.3 < 0.08 6 XA
B AR 3 BT G-2  |H20.8.20 095 | <008 15 il
F/ O BT G-3  [H20.8.21 0.6 < 0.08 7 MR
F HA KR G-5 |H20.8.21 14 <008 13 A
- G EE SR AT G-6  |H20.8.21 066 | <008 9 HA |RERFRR
AET 5k EFET G-7 |H20.8.21 3.9 < 008 6~7 A
454 G-8  [H20.8.20 0.06 | <0.08 53 ER 3 A
£ FKHET G-9  |H20.8.21 0.78 | <0.08 6 il
T HKHET G-10 [H20.8.21 1.3 < 0.08 7 ER 3 A
o $HH AT G-11_[H20.8.21 6.5 < 0.08 8 Ehat A
TR EHET G-12  [H20.8.21 3.6 < 0.08 7 A
TR HEET G-13 |H20.8.21 3.7 < 0.08 5~17 il
il G-1_ |H20.10.7 048 | <008 64 XA
— K G-3  |H20.10.7 2.4 < 0.08 7 KA
samy ALEd G-4  |H20.10.7 1 < 0.08 3 A
ALFE G-5 |H20.10.7 1.8 < 0.08 5 KA
ALE G-6  |H20.10.7 1.9 0.09 9 XA
ALEE G-7 |H20.10.7 4.1 < 0.08 4~5 KA
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= T iy 3 ) —KI ] == - ZEERY = £
et |G| e | 2R | TR | swir aniges] mamy | wiy | agy | S |ewmena] 0% | PTEE | ome | G5
ZEX G-1_ [H20.9.3 1.7 < 0.08 6 A
ZREXK G-2 |H209.3 5 < 0.08 10 e
ZBX G-3  [H20.9.3 15 <008 12~13 | 8k#H
ZRAHET| |Ax G-4  |H20.9.3 13 | <008 15 1 F
Ak G-5 |H209.3 1.4 < 0.08 13 A
Z iRt G-6  |H20.9.3 3 < 0.08 15 R4t A
ZiE#h G-7 |H20.9.3 7.8 < 0.08 15 A
ZRIE] G-1_ [H20.9.9 0.14 | <0.08 8.0 -t
S RIET G-2 |H209.9 4.1 < 0.08 6 A
i T S ATET G-3  [H20.9.9 2.8 < 0.08 5 ¥R
S RIET G-4 |H209.9 1 < 0.08 8 R
S RIAT G-5 [H20.9.9 1.5 < 0.08 15.0 %A
S RIET G-6  |H209.9 1.3 < 0.08 3 A
ANl G-1  |H20.9.11 003 |[<o008 ENi BREE
a0 G-2  |H20.9.11 016 | <008 BH HE |BAR
KER | |5 G-3  |H209.11 15 |<o008 10 8RR
P=1 54 G-4  |H20.9.11 0.6 < 0.08 10 A
=% G-5 [H20.9.11 1 < 0.08 PNz R
kS G-1_ |H20.8.28 6.4 < 0.08 50 s
MR G-2  [H20.8.28 0.78 | <0.08 60 XA
BN G-3  |H20.8.28 49 <008 35 4z
MR G-4 [H20.8.28 0.66 | < 0.08 30 XA
rE Ha G-5  |H20.8.28 5.4 <008 40 HHA
EIK G-6 |H20.8.28 4.6 < 0.08 54 3
1153 G-7  |H20.8.28 15 < 0.08 8 % A
153 G-8 |H20.8.28 0.01 0.11 80 XA
1153 G-9  |H20.8.28 16 < 0.08 20 #F
ey G-10 |H20.8.28 4.6 < 0.08 8 A
HEARH Ef G-1  |H20.10.7 11 < 0.08 10 4z
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= T iy 3 ) —KI ] == - ZEERY = £
et |G| e | 2R | TR | swir aniges] mamy | wiy | agy | S |ewmena] 0% | PTEE | ome | G5
IWEZ G-1  |H20.9.17 0.06 | <0.08 30 XA
i]::p4 G-2  [H209.17 3.2 < 0.08 10 15 A
LT A IWEHZ G-3  [H20.9.17 2.2 < 0.08 18 A
AT G-4 |H209.17 2.1 < 0.08 6 A
RS G-5 |H20.9.17 1.6 < 0.08 6 A
AT G-6  [H209.17 0.74 | <008 4 MR
Bz G-1  [H20.9.1 < 0.01 2.8 TBH ¥R
HREH =4EZ G-2  |H20.9.1 0.36 1.9 B £
— Bt R G-3  |H20.9.1 2.3 < 0.08 BA A
R G-4 [H20.9.1 0.76 | < 0.08 70 /45
ti& G-1_ |H20.9.16 3.1 < 0.08 4 bl
Al LT G-2  [H209.16 5.8 < 0.08 14 MR
o] G-3  |H20.9.16 2.4 < 0.08 36 A
R EAFE G-1_ |H20.9.29 2.9 < 0.08 75 BXH
Bl&BAxR G-2  |H20.9.29 2.2 < 0.08 8 RN
HREX G-3  |H20.9.29 2.4 < 0.08 8 A
R E G-1_ |H20.10.6 3.9 < 0.08 13 il
HSEVE CmEmR G-2  |H20.10.6 26 | <008 7 % A
R R G-3  |H20.10.6 1.3 < 0.08 10 A
AR G-1_ [H20.10.6 2.9 < 0.08 4 A
DlzE®E G-2  |H20.10.6 099 | <008 6 ERF
AR G-3  |H20.10.6 2.1 < 0.08 4.6 XA
EHEE G-1_ |H20.10.6 1.8 0.08 4 ¥R
ElZE=x G-2  |H20.10.6 2.3 < 0.08 5 ol
A G-3  [H20.10.6 <001 |<008 40 24k
REEFHET G-1_ |H20.9.29 <0.01 |<0.08 B ~BA
rxEElA AEEFHT G-2  |H20.9.29 0.63 | <0.08 8 KA
KK EFH] G-3  |H20.9.29 0.93 0.17 10 MA
AEEFHT G-4  [H20.9.29 1.9 0.13 8 8
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vt g wme | 20| R0 | e pamis| mnssy | ok | 13y | Y |swman] 0% | TLEE | me | e

REREFFHET G-5 |H20.9.29 25 < 0.08 6.5 A
A | REEFET G-6_ |H20.9.29 5.4 < 008 25 N
AEEHT G-7__ |H20.9.29 4.1 0.26 PN PN
KX EFHT G-8  |H20.9.29 12 < 0.08 F: RBH
R S HT G-1__ |H20.9.29 <001 |<0.08 TER #A
1A SR G=2 |H20.9.29 <001 | <008 T8 T
g 1A SHT G-3  [H20.9.29 3.7 0.18 # A
(N1 G-4 |H20.9.29 45 < 0.08 # A
NS G-5 |H20.9.29 0.33 | <0.08 45 433
FXREH NS G-6  |H20.9.29 1.9 0.08 5 M
15 P BT G-1__ |H20.10.15 029 | <008 25 A
C|tEF Ry G-2 [H20.10.15 1.1 0.11 5.1 73]

JEFET G-3  |H20.10.15 7.8 0.09 7.1 B [BERE
B T G-1_ |H20.10.15 12 | <o0o08 FER FER
fE 7 BT G-2  |H20.10.15 013 |<oo08 PN EH
BE~ AT G-3  |H20.10.15 35 < 0.08 5 A
D |ge &0 G-4  [H20.10.15 1.1 0.14 45 7]
BEv AT G-5 |H20.10.15 0.18 0.16 20 e
BEr T G-6__ |H20.10.15 438 0.11 20 453
fE = T G-7__ |H20.10.15 3 0.12 T PN
= ith EET G-1__ [H20.10.6 014 | <008 4 -4z
ABTA G-2  |H20.10.6 052 |[<o008 30 2 F
REW | A|[KER G-3__ |H20.10.6 < 0.01 0.14 100 8% FA
= HhEET G-4 |H20.10.6 < 0.01 0.14 6 3
k)] G-5 |H20.10.6 0.07 | <0.08 10mkKiE | &
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4 RAT G-1  |H20.9.1 0.17 0.26 6 b3l
A EHT G-2  [H20.9.1 042 |[<o008 3.5 MR
Bl&agHmr G-3  |H20.9.1 1.6 < 0.08 5 #m
T G-4  |H20.9.1 0.81 |[<008 2 MR
AT G-5 |H20.9.1 008 | <008 85 Giidi
47 BHHET G-1__ [H20.10.21 4.3 0.12 5 M
£ BAHET G-2  [H20.10.21 0.04 0.12 60 KA
C |45 BRHT G-3  |H20.10.21 1.1 0.13 5 M
A BRHET G-4 |H20.10.21 0.06 0.55 60 bl
F B HET G-5  |H20.10.21 9.2 < 0.08 7 ¥R
{0 P A T G-1_ [H20.9.11 1 0.1 8 /i
{0 A SR AT G-2  |H20.9.11 044 | <008 10 #H
REM | D |77 G-3_ |H20.9.11 0.06 | < 0.08 3 A |EER
{0 A SR AT G-4  |H20.9.11 078 | <008 5milE M
{50 T SR ET G-5 [H20.9.11 0.34 | <008 3 KA
E&EAT G-1  |H20.9.11 5.2 < 0.08 5 A
B ERT G-2  |H20.9.11 4.9 < 0.08 9 il
El2Em G-3  |H20.9.11 2.8 0.09 4 %A
BEEHR G-4  [H20.9.11 0.13 | <008 2 KA
E&EAT G-5 |H20.9.11 3.9 0.1 3 A
A ET G-1_ |H20.10.7 0.01 0.35 80 il
A HT G-2 |H20.10.7 1.7 < 0.08 7 XA
F | {2 BT G-3  |H20.10.7 1.4 0.09 5 &1 F
A HT G-4 |H20.10.7 1.5 0.09 XA
A ET G-5  [H20.10.7 0.01 0.26 80 24k
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et |G| e | 2R | TR | swir aniges] mamy | wiy | agy | S |ewmena] 0% | PTEE | ome | G5
FTFNAT G-1_ |H20.9.25 0.06 0.09 6 A
FrA0ET G-2  [H20.9.25 2.8 < 0.08 5 MR
G | grFnfr G-3  |H20.9.25 019 |[<0.08 5 ¥R
FrA0ET G-4  [H20.9.25 <001 |<0.08 6 MR
FTANAT G-5 |H20.9.25 1.2 < 0.08 5 A
F FOET G-1_ [H20.10.7 0.5 < 0.08 2 A
FFNHET G-2 |H20.10.7 2 < 0.08 HA 5t
H | FH Fnr G-3  [H20.10.7 0.67 0.19 I~BR A
FH AT G-4 |H20.10.7 1.7 < 0.08 B 45t
T F FOET G-5  [H20.10.7 1.6 < 0.08 B M
KEHT G-1_ |H20.9.24 1.2 0.09 A
K EHT G-2  |H20.9.24 1 < 0.08 MR
I [REHr G-3  |H20.9.24 0.01 0.09 45 £k P
KERT G-4  |H20.9.24 28 [<o008 5 1
KEH G-5 |H20.9.24 <001 |<008 60 bl
sAlE AT G-1_ |H20.8.20 0.15 | <0.08 54 e
SR AT G-2  [H20.8.20 < 0.01 0.09 43 A
J Al G-3_ |H20.8.20 < 0.01 3.3 50 M
JALEIET G-4 |H20.8.20 4.6 0.13 4 2 H
sAlEa AT G-5 |H20.8.20 0.53 0.29 63 A
IRiEE G-1  |H209.17 <001 |<008 40 M
FEET G-2 |H209.17 6.7 < 0.08 5 A
= LT ik G-3  |H20.9.17 0.84 0.17 7 KA
BARE G-4 |H20.9.17 14 <008 10 A
=M G-5 |H20.9.17 5.3 < 0.08 8 4]
#E < G-6  [H20.9.17 0.32 0.09 50 XA
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warst B wee | AT | BK Tavwn| o | w0 x| mm | ek [TEY] eos | R | TEE ] LN,
=278 T-p |H20.64 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 < 0.0005 [<0.002 |<2E-04 < 0.0004 {< 0.002
H20.10.22 | < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
AT T-3 [H20.6.10 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
BE AR T-4 [H206.10 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
FER 7-5 |H206.10 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
[31::] T-7 [H2063 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.21 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
T=HET T-g |H20.63 <0001 | <01 |<0005 |<0.025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.21 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
IKETE T-9 |H20.64 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
mugrmas| T-10 [H20.6.11 <0001 | <01 |<0005 |<0025 | <0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0.001 | < 01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
mugrmas| T-11 [H20.6.9 <0001 | <01 |]<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0.001 | < 0.1 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
FE T-12 [H20.86 <0001 | <01 | <0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 | < 0.001 | < 0.1 [< 0.005 | <0.025 | < 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
FE T7-13 |H206.10 <0001 | <01 |]<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 | < 0.001 | < 0.1 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
N ZEET T-14 [H2063 <0001 | <01 <0005 |<0.025 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.21 | < 0.001 [ < 0.1 [< 0.005 | < 0.025 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
N EEET T7-15 |H206.3 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.21 | < 0.001 | < 01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
BEATH wEAMET| T-17 H20.6.9 <0001 | <01 |]<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0.001 | < 01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
m=xmEr| T-18 H20.6.9 <0001 | <01 |<0005 |<0.025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0.001 | <01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |[< 2E-04 | < 0.0004 | < 0.002
h B fT T-19 |H206.11 <0001 | <01 |<0005 |< 0025 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.29 | < 0.001 | < 0.1 [< 0.005 | < 0.025 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
h B fT T-20 |H206.11 <0001 | <01 |]<0005 |<0.025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.29 | < 0.001 | < 01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |[< 2E-04 | < 0.0004 | < 0.002
h B fT T-21 |H206.11 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.29 | < 0.001 | <01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |[< 2E-04 | < 0.0004 | < 0.002
pE T-32 |H206.10 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 | < 0.001 | < 01 [< 0.005 | <0.025 | < 0.005 | < 5E-04 <0.002 |< 2E-04 | < 0.0004 | < 0.002
pE T-33 |H206.10 <0001 | <01 |]<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 | < 0.001 | < 01 [< 0005 | <0.025 | < 0.005 | < 5E-04 <0.002 |[< 2E-04 | < 0.0004 | < 0.002
haE T-34 |H2062 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 < 0.0005 [< 0.002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.20 | < 0.001 | < 0.1 [< 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
haE T-35 |H2062 <0001 | <01 | <0005 |<0025 | <0.005|< 5E-04 < 0.0005 [< 0.002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.20 | < 0.001 | < 01 [< 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
AT | T-36 H20.6.10 <0001 | <01 |]<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.28 | < 0.001 | < 0.1 [< 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
RERT T-38 |H2062 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 < 0.0005 [< 0.002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.20 | < 0.001 | < 0.1 [< 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
FAREET | T-39 H20.6.2 <0001 | <01 | <0005 |<0025 | <0.005|< 5E-04 < 0.0005 [<0.002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.20 | < 0.001 | < 01 [< 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
=R T-40 |[H2064 <0001 | <01 |<0005 |<0025 | <0.005|< 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
H20.10.22 | < 0.001 | < 01 [<0.005 | <0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002
BETAE| T-41 H20.6.2 <0001 | <01 | <0005 |<0025 | <0.005|< 5E-04 < 0.0005 [<0.002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.20 [ < 0.001 [< 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 |< 2E-04 | < 0.0004 | < 0.002

- 213 - ERERAR(TR)



B T T T |l [roon oo [ | e | s [ on | wom | | BB
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 <0.002 | <0.01 0.03 0.23 RS
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | < 0.01 0.03 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 29 0.05 0.12 50 |mam
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.9 0.04 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 25 0.02 0.13 60 |mzm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.1 0.01 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 34 0.03 0.12 05 |mzm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.1 0.07 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 0.5 0.56 50 |# 8
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.48 0.48

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 1.6 0.07 0.2 120 |m2m
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 1.6 0.06 0.16

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 39 0.04 0.15 555 |%@m
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.6 0.04 0.12

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 0.03 0.18 353 |zmm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.02 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2 0.05 0.17 110 |zmm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.05 0.14

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 32 0.03 0.12 90 |zmm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.2 0.03 0.12

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.6 0.03 0.13 70 |=@m
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.6 0.03 0.13

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | < 0.01 0.1 0.36 457 |&8mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.09 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 0.01 0.41 0.09 155 |=mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.09 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 1 0.05 0.16 112 |zmm| seam
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <0.01 0.05 < 0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.7 0.05 0.15 M2 |e8m
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 2.8 0.05 0.15

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 0.2 0.17 210 |&8mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 0.2 0.19

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 04 0.63 100 |&mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 0.43 0.65

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 1.2 3.7 15 |smm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 | <001 1.8 4.2

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 28 0.03 0.14 2438 |=mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 2.8 0.03 0.15

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.6 0.03 0.14 25 |=mm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 [ < 3E-04 | < 0.002 | < 0.001 < 0.002 2.6 0.03 <0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 0.07 0.08 0.49 654 |=mA
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 <0.002 | <0.01 0.07 0.42

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.7 0.07 0.37 214 |=mA
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 29 0.07 <0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.6 0.05 < 0.08 110 |zmm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2.6 0.03 <0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 2 0.01 < 0.08 80 |# B
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 1.8 0.01 <0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 [ < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 10 < 0.01 < 0.08 80 |8 B
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 10 <o0.01 <0.08

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 3.6 0.04 0.15 708 |=mA
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 34 0.03 0.12

< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | < 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 53 0.01 < 0.08 60 |zmm
< 0.004 < 5E-04 | < 0.0006 | < 0.002 < 0.0005 | € 0.0002 | < 0.0006 | < 3E-04 | < 0.002 | < 0.001 < 0.002 52 <o0.01 <0.08
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BT P X% za2 £HE ANIIL | YTV i N@aL| HE faoKER KéR PCB 15 e sonzsy | HonIFLY
EkEr| T4z |H2062 | <0001 | <ot | <0005 <0025 | <0005 | < 5E-04 < 00005 | < 0.002 | < 2E-04 | < 0.0004 | < 0002
H20.10.20 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
mmmme| To43 [H20611 | <0001 [ <01 | <0005 | <0025 | <0005 ]|< 5E-04 < 0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.29 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
mmmme| Toaq [H20611 | <0001 [ <01 | <0005 | <0025 | <0005 |< 5E-04 < 0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.29 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
smapgEr | To45 |[H2069 | <0001 | <ot | <0005 | <0025 | <0005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
smapgEr | To46 |H2069 | <0001 | <ot | <0005 | <0025 | <0005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
smapgEr | To47 |H2069 | <0001 | <ot | <0005 <0025 | 0005 |< 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.27 | < 0001 | <01 | <0005 | <0025 | 0006 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
aomrse| Toag [H2063 | <0001 [ <01 | <0005 | <0025 | <0005 ]|< 5E-04 < 00005 | <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.21 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
gmEEr | 151 [H2064 | <0001 | <01 | <0005 | <0025 | <0005 ]< 5E-08 <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.22 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0,002
O | Tos2 |H2063 <0001 | <01 | <0005 <0025 | 002 |<5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
H20.10.21 | < 0001 | < 01 | <0005 | <0025 | 0021 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
snm | 753 [H2063 | <0001 [ <01 | <0005 | <0025 | 0022]< 5E-04 <0002 | < 2E-04 | < 00004 | < 0,002
H20.10.21 | <0001 | <01 | <0005 | <0025 | 0023 |< 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
EkEr| Tos5 |[H2064 | <0001 <01 | <0005 | <0025 |<0005]|<5E-04 < 00005 | <0002 |<2E-04 | < 0.0004 | < 0002
- H20.10.22 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
= | Toi0p [H2062 | <0001 | <01 | <0005 | <0025 |<0005]|<5E-04 <0002 | < 2E-04 | < 00004 | < 0,002
H20.10.22 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
ek | Tot03 |H2084 | <0001 | <01 | <0005 | <0025 | 0006 |< 5E-04 < 00005 | <0002 |<2E-04 | < 0.0004 | < 0002
H20.10.22 | < 0001 | < 0.1 | < 0005 | <0025 | 0007 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
ek | Toto4 |H2084 | <0001 | <01 | <0005 | <0025 | <0005 |< 5E-04 < 00005 | <0002 |<2E-04 | < 0.0004 | < 0002
H20.10.22 | < 0,001 | < 0.1 | < 0.005 | < 0,025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
ated | To10s [H2062 | <0001 | <01 | <0005 | <0025 | <0005 < 5E-04 <0002 | < 2E-04 | < 00004 | < 0,002
H20.10.20 | < 0,001 | < 0.1 | < 0.005 | < 0.025 | < 0.005 | < 5E-04 <0002 | < 2E-04 | < 0.0004 | < 0.002
HHENo2| T2 | 9047
HEENoI | T-23 | 1907
SasNo2| Top4 [H2087 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
H20.11.5 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
GasNoi| Too5 [H2087 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
H20.11.5 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
EiNo2 | T |H2087 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
H20.11.5 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
EiNot | Tp7 |H2087 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
H20.11.5 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
iz T-28 |i2087
H3ENo2 | T-29 | 19087
H3ENod | T-30 | 19057
B8 | T8 |08 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
FRET T iH209.16 | < 0001 [ < 0.1 | <0005 | <0025 | < 0.005 | < 5E-04
KIEFET| T2 1120916 | <0001 | < 0.1 | <0005 | <0025 | < 0.005 | < 5E-04
A BAREEE) T-1 1420025 | <0001 | < 0.1 | <0005 | <0025 | <0005 | < 5E-04
IR | B FTESRE|  T-1 lpo00 [ < 0001 | <04 | <0005 | <0025 | 0011 < 5E-04
CISRETEH | T1 !Ho024 [< 0001 | <01 | <0005 |< 0025 |<0005|< 56-04
D| RISETET | T-1 !hpoo1 | <0001 [ < 0.1 | <0005 |< 0025 | < 0.005|< 56-04
E| RETHE | T-1 ‘hpo911 | < 0001 | <01 | <0005 | <0025 |< 0005 | < 5E-04
A& LEEHE|  T-2 450820 <0002 | < 2E-04 | < 00004 | < 0.002
FHA | T3 |Hjos20 <0002 | < 2E-04 | < 00004 | < 0.002
- +K T [H209.11 | <0001 [< 0.1 | <0005 | <0025 | <0005 | < 56-04
TEM ——
MEFER] T3 0911 | <0001 | <01 [< 0005 |< 0025 |< 0005 | < 56-04
FNEEs| T-1 g
KR H20.8.28 < 0002 | < 2E-04 | < 0.0004 | < 0.002
T T2 |H208.28 < 0002 | < 2E-04 | < 00004 | < 0.002
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sanigis | s | mech | ees | rey | miyea | 7oA | eon [TE | motr | e |Gt 5o | mow [0 | BiR
<0004 | < 5E-04 | < 00006 | <0002 |<00005]|< 00002 | < 00006]|< 3E-04 | <0002 | <0001 |<0002 | 44 001 |<008 | 100 lainm
<0004 | < 5E-04|< 00006 | <0002 |<0.0005]< 00002 |<00006]|<3E-04|<0002 | <0001 |<0002]| 4 <001 |<o008
<0004 | < 5E-04<00006 | <0002 |<00005|< 00002 |<00006|<3E-04 <0002 | <0001 [<0002 | 038 | 009 | 022 | o |gimgm
<0004 | < 5E-04|< 00006 | <0002 |<0.0005]|< 00002 |<00006|<3E-04 <0002 | <0001 [<0002| 038 | 008 | 02
< 0004 | < 5E-04 | < 00006 | <0002 |<00005]|< 00002 |< 00006 |< 3E-04 | <0002 | <0001 |<0002| 26 005 | 018 | 115 |gmm
<0004 | < 5E-04 | < 00006 | <0002 |<00005]|< 00002 | < 00006 < 3E-04 | < 0.002 | <0001 [<0002]| 26 004 | 016
< 0004 | < 5E-04 | < 00006 | <0002 |< 00005 < 00002 | < 00006 | < 3E-04 | < 0.002 | < 0001 |< 0002 |< 001 1 1 0 |gmEm
<0004 | < 5E-04|< 00006 | <0002 |<0.0005]|< 00002 | < 00006 < 3E-04 | <0002 | <0001 |<0.002|<001 11 1
< 0004 | < 5E-04 | < 00006 | < 0002 |< 00005 < 00002 | < 00006 | < 3E-04 | < 0.002 | < 0001 | < 0002 | < 001 042 | 069 | g5 |gimm
<0004 | < 5E-04|< 00006 | <0002 |<00005]|< 00002 | < 00006 < 3E-04 | <0002 | <0001 |<0.002|<001 044 | 059
< 0004 | < 5E-04 | < 00006 | <0002 |< 00005]|< 00002 | < 00006 | < 3E-04 | < 0.002 | < 0001 |< 0002 |< 001 015 | o1t | 4o |gimm
<0004 | < 5E-04|< 00006 | <0002 |<00005]|< 00002 | < 00006 < 3E-04 | < 0002 | <0001 |<0.002|<001 015 | 009
<0004 | < 5E-04<00006 | <0002 |<00005|< 00002 |<00006|<3E-04 <0002 | <0001 [<0002 | 18 |<001 [<008 | 10 |ginm
<0004 | < 5E-04|< 00006 | <0002 |<0.0005]|< 00002 |<0.0006|<3E-04 <0002 | <0001 [<0002| 17 |<001 [<o008
< 0004 | < 5E-04 | < 00006 | <0002 | < 00005]|< 00002 |< 00006 |< 3E-04 | < 0002 | <0001 |<0002| 36 004 | o1 137 | e ek
<0004 | < 5E-04|< 00006 | <0002 |<0.0005]|< 00002 | < 00006 | < 3E-04 | < 0.002 | <0001 [<0002| 32 003 | 008
< 0004 | < 5E-04 | < 00006 | < 0002 |< 00005 < 00002 | < 00006 | < 3E-04 | < 0.002 | < 0001 | < 0002 | < 001 022 | 027 | 100 |gesmm
<0004 | < 5E-04 | < 00006 | < 0002 |<0.0005]< 00002 | < 00006 < 3E-04 | < 0.002 | <0.001 |<0.002 |<001 02 0.29
<0004 | < 5E-04|< 00006 | <0002 |<00005]|<00002 |<00006|<3E-04|<0002 | <0001 |<0002 <001 023 | 082 | jac |geimm
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]|< 00002 | < 0.0006|< 3E-04 | < 0.002 | <0.001 |<0.002 | <001 0.21 0.26
<0004 | < 5E-04|< 00006 | <0002 |<00005]|<00002 | < 00006 < 3E-04 | <0002 | <0001 [<0002| 26 001 [<008 | o |gum
<0004 | < 5E-04 | < 00006 | < 0002 |<0.0005]|< 00002 | < 00006 < 3E-04 | <0002 | <0001 [<0002| 25 |<001 |<o008
<0004 | < 5E-04|< 00006 | <0002 |<00005]|<00002 |<00006|<3E-04|<0002 | <0001 |<0002 <001 005 | 037 | o |gumm
<0004 | < 5E-04 | < 00006 | < 0002 |<0.0005]|< 00002 | < 00006 < 3E-04 | < 0.002 | <0.001 |<0.002 |<001 004 | 029
<0004 | < 5E-04|< 00006 | <0002 |<00005]|<00002 |<00006|<3E-04|<0002 | <0001 |<0002]| 001 0,01 024 | 56 |gimm
<0004 | < 5E-04 | < 00006 | < 0002 |<0.0005]|< 00002 | < 00006 < 3E-04 | < 0.002 | <0001 | <0002 |<001 001 | <008
<0004 | < 5E-04<00006 | <0002 |<00005|< 00002 |<00006|<3E-04 <0002 | <0001 [<0002 | 005 |<001 [<008 | o |ginsm
<0004 | < 5E-04 | < 00006 | < 0002 |<0.0005]|< 00002 | < 00006 < 3E-04 | <0002 | <0001 |<0002| 003 |<001 |<o008
<0004 | < 5E-04|< 00006 | <0002 |<00005)|< 00002 |<00006|<3E-04 | <0002 | <0001 |[<0002| 2 007 | 088 | ¢ | mwm
<0004 | < 5E-04 | < 00006 | <0002 | < 0.0005]|< 00002 | < 00006 | < 3E-04 | < 0.002 | <0001 [<0002| 15 007 | <008
< 0.0001_| < 0.0001 47 30 |mAA
< 00001 | < 0.0001 0,092 60 |mam
< 0.0001 | < 1E-04 | < 00001 | < 0.0001 | < 0.0001 < 00001 | < 0001 | < 001 5 lmmm
< 0.0001 | < 1E-04 | < 00001 | < 0.0001 | < 0.0001 < 0.0001 | < 0001
< 00001 | < 1E-04 | < 00001 | 00039 | 00147 < 00001 | <0001 | 028 o5 |smm
< 00001 | < 1E-04 | < 00001 | 00028 | 0.0104 < 0.0001 | < 0001
< 0.0001 | < 1E-04 | < 00001 | < 0.0001 | < 0.0001 < 00001 | < 0001 | < 001 15 || aesns
< 0.0001 | < 1E-04 | < 00001 | < 0.0001 | < 0.0001 < 0.0001 | < 0001
< 0.0001 | < 1E-04 | < 00001 | < 00001 | 0.0004 < 00001 | <0001 | 35 60 |smmm
< 00001 | < 1E-04 | < 00001 | 00001 | 0.0003 < 0.0001 | < 0001
< 0.0001_| < 0.0001 26 5 |mAm
< 00001 | < 0.0001 < 001 2 |®mAm
< 00001 _| < 0.0001 0.001 50 |mAm
< 0.0001 | < 1E-04 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0002 | < 3E-04 | < 0.001 | < 0.0001 | < 0.001 | < 0.01 90 |mam
<0001 | 022 009 003 | 45 | A
<0001 | 058 |<o008 001 | 79 | A
<0001 | 083 0.11 002 | TH | %A
<0001 | 003 0.19 003 | TH | %A
<0001 | 001 |<008 002 | 45 | %A
<0001 | 14 008 002 | 100 | %A
<0001 | 081 |<008 | 001 7| g RAR
< 0004 | < 5E-04 | < 00006 | <0002 |< 00005 < 0.0002 < 0001 24 | <008 1| #A
< 0004 | < 5E-04 | < 00006 | <0002 |< 00005 < 0.0002 < 0001 012 | <008 60 | A
<0001 | 68 |<008 002 | 30 | %A
<0001 | 49 |<o008 |<o001 50 | &M
< 0004 | < 5E-04 | < 00006 | < 0002 |< 00005 < 0.0002 < 0.001 049 | <008 1| #A
< 0004 | < 5E-04 | < 00006 | < 0.002 | < 00005 < 0.0002 < 0001 33 0.14 4 | %A
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warit B weme | EE | BE [aven| o | oo [rmow| mw | eka [7EY] eos | 0 [ REE] 20T 00,
ksl T-1 |H208.20
+ T2 |1H208.20
., SUELRE|  T-1 {00428
WHARTE | T2 |njogos
o|memms| 1 |4m00
D|®ABIE| T-1 |io00.1
A T-1 |H20.8.20 < 0002 | < 2E-04 | < 00004 | < 0.002
$BE T2 |H208.20 < 0002 | < 2E-04 | < 00004 | < 0.002
L |8 BRAES| T3 (00820 < 0002 | < 2E-04 | < 00004 | < 0.002
c|smarFmm| T1 [\n0s26 < 0002 | < 2E-04 | < 00004 | < 0.002
D|E*mT48| T2 |no0828 <0002 | < 2E-04 | < 0.0004 | < 0.002
E|EREES| T-1 |ho0o1 <0002 | < 2E-04 | < 0.0004 | < 0.002
AL HE -1 |H20826
—— E T2 |H208.26
clmezaEm| T-1 |uo001
D|mABESE| T-1 |4n001s
- HRRET | 71 |h209.05
EEET | T2 |hgo995
A|XEBEEl T-1 |400020 < 0002 | < 2E-04 | < 00004 | < 0.002
o IR B YY) <0002 | < 2E-04 | < 0.0004 | < 0.002
clerFrE®E| T-1 |4201045 < 0002 | < 2E-04 | < 00004 | < 0.002
D|#rsm&E| T-1  |120.10.15 <0002 | < 2E-04 | < 0.0004 | < 0.002
A|ZAETEE 11 200924 | <0001 | <01 | <0005 | <0025 | < 0005 | < 5E-04
B Faxertt) T-1 |Hpo924 |< 0001 | <01 | <0005 | <0025 | <0005 | < 56-04
FHA | C|BIAR| T-1 |190024 | < 0001 | <01 | <0005 | <0025 | < 0,005 | < 5E-04
Diamerm#®)  T-1  |H0029 |< 0001 | <01 | <0005 | <0025 | <0005 | < 56-04
E|#HIAE) T-1 |H0029 [< 0001 | <01 | <0005 | <0025 | <0005 |< 56-04
Al—oEmrEel 11 420011 | <0001 | <01 | <0005 | <0025 | < 0005 | < 5E-04
PIgT | B| W#KE | T-1 |H20011 | <0001 | <01 | <0005 | <0025 | <0005 |<56-04
ClBHHEH| 11 0011 <0001 | <01 | <0005 | <0025 | <0005 | < 5E-04
ATy
whmxres| T4 |hp0106
gl FEE | T o9
RERE | T2 |hp094
clammemal T2 |\4201021
— D | wmmeran T-1 H20.9.11
E|mEmmE| T-1 |00
Flmsaam| T-1 |no0107
H EMETEE| T-1 |Ho0107
SARZTE| T-3  |420.107
I xmer@sm|  T-1 |4o0904
J|mmeAEHE| T2 |y0s20
=M 71 |H200.16 [ <0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
Al A& 2 |Ho0ss
A& &R T3 |H20016 | <0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
ol AR 2 |h2088
BrAE | T3 |Hp09.16 | <0001 [ <01 | <0005 | <0025 | <0005 < 56-04
— PREE T2 1120916 | <0001 | < 0.1 | <0005 | <0025 | < 0005 | < 5E-04
k] T3 [H209.16 | <0001 | < 0.1 | <0005 | <0025 | <0005 | < 5E-04
=am FR T2 |h209.17
EE -3 |H209.417
smg Al RENA | T-1 |42099 < 0.002 | < 2E-04 | < 0.0004 | < 0.002
B| &##s T-1 |H209.9 < 0.002 | < 2E-04 | < 0.0004 | < 0.002
ERET -1 [H209.16
FRSHET T-1 |H2099 <0002 | < 2E-04 | < 00004 | < 0.002
ST T-1 120911 | <0001 | < 0.1 | <0005 | <0025 | <0005 | < 5E-04
T2 120911 | <0001 | < 0.1 | <0005 | <0025 | <0005 | < 5E-04
sokar |2 -1 [H208.26 <0002 | < 2E-04 | < 00004 | < 0.002
B -1 |H208.26 <0002 | < 2E-04 | < 00004 | < 0.002
HEARET -1 |H208.21
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R B | B R e o [ [y | o v [ 5o | o [ e B
< 00006 | < 3E-04 | < 0,002 24 | <008 85 | &M
< 00006 | < 3E-04 | < 0,002 3 34 65 | #A
< 00006 | < 3E-04 | < 0,002 032 021 % | %A
< 00006 | < 3E-04 | < 0,002 52 014 5 | A
< 00006 | < 3E-04 | < 0,002 0.11 047 50 | &M
< 00006 | < 3E-04 | < 0,002 088 025 0 | ®A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 65 | <008 50 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 0.02 16 50 | #A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 014 | 016 T4 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 12 0.08 50 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 003 | 07 50 | &M
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0,001 086 | 014 60 | A
< 0.0006 | < 3E-04 | < 0,002 12 0.09 40 | #A
< 00006 | < 3E-04 | < 0,002 055 | <008 4 | ¥R
< 00006 | < 3E-04 | < 0,002 57 |<008 0 | &®A
< 0.0006 | < 3E-04 | < 0,002 10 [<o008 8 | %A
< 0.0006 | < 3E-04 | < 0,002 <001 03 25 | #A
< 0.0006 | < 3E-04 | < 0,002 022 | 009 50 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 84 02 7| #R
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 032 | 01 60 | A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 055 | 009 38 | A
<0004 | < 5E-04 | < 00006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 58 0.18 4 | A |RER
<0001 | 095 | 009 | o002 | 50 | %RA
<0001 | 53 |<o008 |<oo1r | 35 | %A
<0001 | 096 0.11 019 | 40 | #A
<0001 | 07 02 |<oor | 10 | ®A
<0001 | 37 |<o008 |<oo1 | 40 | %A
<0001 | 23 064 | o002 | 20 | ®A
<0001 | 28 0.41 0.01 1 | &A
<0001 | 57 0.09 0.01 8 | %A
< 0.0006 | < 3E-04 | < 0,002 076 | <008 50 | &M
< 0.0006 | < 3E-04 | < 0,002 2 02 1| &R
< 0.0006 | < 3E-04 | < 0,002 012 | <008 5 | &A
< 0.0006 | < 3E-04 | < 0,002 003 | <008 12 | %A
< 0.0006 | < 3E-04 | < 0,002 0.36 0.12 40 | #A
< 0.0006 | < 3E-04 | < 0,002 0.65 0.09 13 | %A
< 0.0006 | < 3E-04 | < 0,002 001 0.1 2 | #A
< 0.0006 | < 3-04 | < 0,002 0.09 008 30 | &M
< 0.0006 | < 3E-04 | < 0,002 27 | <008 4 | #A
< 0.0006 | < 3-04 | < 0,002 003 |<008 30 | &M
< 0.0006 | < 3E-04 | < 0,002 017 | <008 1| &R
< 0.0006 | < 3E-04 | < 0,002 002 | <008 52 | A
<0001 | 14 |<o008 |<oo1r | %0 | #A
< 0.0001_| < 0.0001 0.64 75 | WA menak
<0001 | 32 |<o008 001 | 150 | 8RA |BRFR
< 0.0001_| < 0.0001 < 001 101 | B | mesas
<0001 | 2 0.12 003 | 100 | &RA3
<0001 | 88 |<o008 [<o001 | 50 | %A
<0001 | 09 0.27 0.1 100 | exa¢/
< 00006 | < 3E-04 | < 0,002 0.15 044 69 | &A
< 00006 | < 3E-04 | < 0,002 007 0.74 35 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0001 1 0.08 40 | #%A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0001 6.1 0.11 S (.10 P
< 00006 | < 3E-04 | < 0,002 16 0.12 20 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0001 19 [<o008 40 | #A
<0001 | 004 |<o008 007 | 60 |T¥A
<0001 | 16 |<o008 001 | 13 | A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0001 5 <008 40 | #%A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0001 098 | o041 80 | &
< 0.0006 | < 3E-04 | < 0,002 94 |<008 40 | &
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waret [ wema | 22 ] BK Twven]on | o [xmon] ws | exm [0 pos [ V00 | AR 2 T 00,
- Kig T3 |H2087 < 0.0001 | < 1E-04 | < 0.0001 | < 0.0001
K T4 |H209.11 <0002 | < 2E-04 | < 00004 | < 0.002
o[l K -1 |h209.11 < 0002 | < 2E-04 | < 0.0004 | < 0.002
BNEE| |#ESHE| T |y0e4s
NEET | | BREFET| T |hs09.16
B Hike -1 |H209.25
AR AT AR -1 [H20.925
FREA IR T2 |H209.29 < 0002 | < 2E-04 | < 0.0004 | < 0.002
& 1 |H209.29 <0002 | < 2E-04 | < 00004 | < 0.002
kA B AR 2 |hg0.10.1 <0002 | < 2E-04 | < 0.0004 | < 0.002
c| g 1 |H20.10.1 <0002 | < 2E-04 | < 00004 | < 0.002
fmET 20 1 |H209.16 <0002 | < 2E-04 | < 0.0004 | < 0.002
Ealr TAE | T |hoos21 <0002 | < 2E-04 | < 0.0004 | < 0.002
s TH 1 |H2093 <0002 | < 2E-04 | < 00004 | < 0.002
*8 2 |H2093 <0002 | < 2E-04 | < 00004 | < 0.002
B HT bz 1 |H208.21 < 0.002 | < 2E-04 | < 0.0004 | < 0.002
Al ER 1 |H20047 [< 0001 [ <01 | <0005 | <0025 | <0005 |< 56-04
WHRET | B| kS | T-1 |jusooq7 | <0001 | <01 | <0005 | <0025 | <0005 | < 5E-04
Cl #78 | T-1 |hp0017 | <0001 | <01 |< 0005 |< 0025 | <0005 | < 56-04
sonar A b 1 |H2093 <0002 | < 2E-04 | < 0.0004 | < 0.002
Bl RS | T |h200.17 < 0002 | < 2E-04 | < 00004 | < 0.002
S BUHAT | T-1 |Hp009 | <0001 [< 01 | <0005 | <0025 |<0005|< 5E-04
B| 1R 1 |H20820 [< 0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
AT AR 1 |H2009 [< 0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
SRET i 1 |H20.10.7 <0002 | < 2E-04 | < 0.0004 | < 0.002
SRARE | RE#H | T |hp093  [< 0001 | <01 | <0005 | <0025 | < 0005 | < 5E-04
HRTET FHE | T 4009 [<0001 [ <01 | <0005 | <0025 | <0005 | < 56-04
KEF IR 1 |H20041 [< 0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
HEF Nz -1 |H2010.1 <0002 | < 2E-04 | < 0.0004 | < 0.002
AR i -1 |h20.107 <0002 | < 2E-04 | < 00004 | < 0.002
WST#T Nz 1 |H209.17 <0002 | < 2E-04 | < 00004 | < 0.002
EREEFT ER 1 |H209.1 < 0.002 | < 2E-04 | < 0.0004 | < 0.002
Al tm 1 |H20016 | <0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
pazym S| FEE | T k0929 | <ooor [< o1 | <0005 | <0025 | <0005 | < 5E-04
D| #&E 1 |H20106 | <0001 [ <01 | <0005 |< 0025 | <0005 |< 56-04
E| ®EE | T2 |H0106 [< 0001 | <01 | <0005 |< 0025 | <0005 |< 56-04
Erldg 03 1 |H209.17 <0002 | < 2E-04 | < 00004 | < 0.002
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R [ [ | T [ [ [ oo [ e | oo [ 5o | wom [ | 58
< 0.0001 | < 1E-04 | < 00001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0002 | < 3E-04 | < 0.001 | < 0.0001 | < 0.001 | 26 120 | BRI mewas
<0004 | < 5E-04 | < 00006 | <0002 | < 00005 < 00002 < 0001 2.7 0.08 160 | &kA
<0004 | < 5E-04|< 00006 | <0002 | < 00005 < 00002 < 0001 36 0.08 102 |B%A
< 0.0006 | < 3E-04 | < 0,002 15 |<008 T | #A
< 0.0006 | < 3E-04 | < 0,002 087 | <008 30 | %A
< 0.0006 | < 3E-04 | < 0,002 0.78 0.09 K | KA
< 0.0006 | < 3E-04 | < 0,002 39 0.15 120 |=%A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 41 <008 TH | wnA
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 5 0.24 0 | ®A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 14 0.12 4 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 1 0.21 4 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0,001 48 | <008 50 | %A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 28 0.16 12 | %A
<0004 | < 5E-04 | < 00006 | <0002 | < 0.0005]| < 00002 < 0.001 34 0.17 110 | &A
<0004 | < 5E-04 | < 00006 | < 0002 | < 0.0005]| < 00002 < 0.001 28 0.13 85 | #&A
<0004 | < 5E-04 | < 00006 | < 0002 | < 00005 < 00002 < 0.001 34 0.08 6 | %R
<0001 | 25 0.1 0,01 6 | #&m
<0001 | 011 0.13 004 | 45 | KA
<0001 | 024 |<008 |<oo1 | 20 | %A —
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 003 | 016 2 | ®A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 35 | <008 50 | &A
<0001 | 18 0.12 014 | 35 | KA
<0001 | 007 0.1 001 | 30 | kA
<0001 | 004 | 053 025 | 5 | %A
<0004 | < 5E-04 | < 00006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 96 | <008 8 | %A
<0001 | 098 [<008 | 001 9 | #R
<0001 | 14 |<008 002 | T | %A
<0001 | 12 |<o008 |<oo1 | TH| KA
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 16 | <008 9 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 12 [<o008 5 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 046 | < 008 9 | #A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 22 <008 0 | ®A
<0001 | 19 0.13 001 | 10 | A
<000t | 11 |<008 001 | 60 | &kA
<0001 | 032 [<008 [<001 2 | #A
<0001 | 1 <008 |<001 5 | &A
<0004 | < 5E-04 | < 0.0006 | < 0.002 | < 0.0005 | < 0.0002 < 0.001 18 0.08 8 | #A
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1-3 ERERAE@EAFAENNS)
i HFE Bk |mmtRERd|AFRE| o | #AE
A | KA 2 | g0 |semssx| [ | 70 | s
N—q |H20.6.30 3.4 60 |mzm
Rigky & H20.10.16 3.8
N-4 |H20.6.30 3.2 13 |ezm
2 I FaHT H20.10.16 2.7
L ET N-9 |H20.6.13 2.7 100 |T#MH
N-10 [H20.6.13 42 110 |T2m
F BT H20.10.16 3.6
N-{2 |[H20.6.13 43 66 |mm
F BT H20.10.16 45
N-13 |[H20.6.13 1.1 g5 | mm
KT H20.10.16 1.1
N-{4 |[H20.6.13 5.4 80 |
HIRHET H20.10.16 5
B N_{6 |H206.13 43 75 e
F EHT H20.10.16 6.4
SI=1i0 N-17 |H20.6.26 3.9 63 |[EXH
H20.7.2 0.57
N-20 50 | #H .
REARTH JIN LT H20.10.16 | 04 N
N-pp |[H20.6.13 3.8 100 | #m
F EHT H20.10.16 3.3
N-p4 |H20.6.30 7.8 200 | #5m
FS H20.10.16 7.8
N_25 |H206.13 4 150 |mem
F EHT H20.10.16 42
N-101 [H20.6.13 4 150 |
F EHT H20.10.16 44
N-102 [H20.6.13 8.3 100 |
F EHT H20.10.16 7
N-103 |H206.13 48 00 |mzm
/NI ET H20.10.16 41
N-104 [H20.6.13 44 o5 |mem
/NI ET H20.10.16 49
[VNEL) N-151 [H20.6.26 7.4 22 |ER¥EA
[LARHT N-152 |H20.6.13 8.4 5 A
1tE N-153 |H20.6.20 3.2 22 | #HA
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2-1 BRMEFEEMR)

wast [§] wEe | AD ] BAC Tavwn| v | e [xmom| mx [ exa |74 ees | 0T | BEE| 00 | e,
e | w5 [H20624 < 0.002
H20.10.7 < 0.002
e | wm-e [H20624 < 0.002
H20.10.7 < 0.002
s | moo [H20624 < 0.002
H20.10.7 < 0.002
AT | M-10 Jpag6.17
AR | M-19 [H20817 < 0.002
H20.10.15 < 0.002
AR | M1z [H20617 < 0.002
H20.10.15 < 0.002
#zEr | M-15 [H20.617 < 0.002
H20.10.15 < 0.002
H20.6.23 < 0.002
Kz | Mego [H20114 < 0.002
H21.1.28 < 0.002
H21.3.10 < 0.002
HE | mop [H206.24 < 0.002
H20.10.7 < 0.002
HE | Meop [H206.23 < 0.002
H20.10.15 < 0.002
REZE | M-23 |1y 604
@5 | Mo [H206.23 < 0.002
H20.11.4 < 0.002
E&F | m-go |H20624 < 0.002
H20.10.7 < 0.002
BEAT @58 | moag [H206.24 < 0.002
H20.10.15 < 0.002
@58 | mss [H206.24 < 0.002
H20.10.15 < 0.002
*z | m-g7 [H206.23 0.038
H20.11.4 0.039
el | m-3g [H206.17 < 0.002
H21.1.28 < 0.002
AR | M-30 [H206.17 < 0.002
H20.10.15 < 0.002
EsF | Mogo [H206.24 < 0.002
H20.10.15 < 0.002
m | me4q [H20617 < 0.002
H20.10.15 < 0.002
R | m-gz H20617 < 0.002
H20.10.15 < 0.002
=5 | g [H206.17 < 0.002
H20.10.15 < 0.002
FBERAR| M-49 (110073 < 0.002
s | mos2 [H206.24 < 0.002
H20.10.15 < 0.002
AEE | M-70 |p06.05
AR | m-72 |H206.25 < 0.002
H20.11.5 < 0.002
AEET | M-73 |pa06.05
AER | M-74 |p06.05
BRET | M-76 |j20,6.05
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YA1L2=Y [ 1 -F [1,1.2-F)%] Mpam | 7R5%9aR | 1,3-7% N BN = 22571 TR ~ Fre=ror HE
ponigLy| nnzgy | mhrsy | 1FLY 13y |onyoay FIOSL| DY g | N EY| LY | pees Ao% | 1EF5F [m] A& e
< 0.004 <0002 | 0025 s | #5m
< 0004 <0002 | 0058
< 0.004 <0002 | 0011 s | #5m
< 0004 <0002 | 0027
< 0.004 <0002 | 00064 s | #m
< 0004 <0002 | 0.009
<0002 | < 0.0005 TH |-
< 0004 <0002 | 00007 0 | %@
< 0.004 < 0002 | < 0.0005
0.036 <0002 | 00036 oo | mm
0032 0002 | 00084
< 0004 <0002 | < 0.0005 2 | %m
< 0.004 < 0002 | < 0.0005
< 0004 <0002 | 089
< 0.004 <0002 | 1 100 |z
< 0004 <0002 | 055
< 0004 <0002 | 084
< 0004 <0002 | 0003 w0 | %7
< 0004 <0002 | 00057
< 0004 <0002 | 00033 o | #m
< 0004 <0002 | 00029
<0002 | < 0.0005 50 | #A
< 0004 <0002 | 00014 0 | #m
< 0004 <0002 | 00017
< 0004 0.006_| < 0.0005 100 |z
< 0004 0,008 | < 0.0005
AT
0033 0009 | 0041 o |Tm
0033 0008 | 0051
0.006 0003 | 0021 0 | sz
0.007 0003 | 0.036
<0004 | 00006 0.099 s |mem
<0004 | 00006 0.099
< 0004 < 0002 | < 0.0005 oo | m
< 0004 < 0002 _| < 0.0005
0.1 0018 | 0.026 w0 | %m
0.11 0016 | 0024
< 0004 0.01 0.0009 R
< 0004 0008 | 00006
0071 0.01 0.017 oo | m
0084 0.01 0.021
< 0004 < 0002 | < 0.0005 oo | m
< 0004 < 0002 | < 0.0005
< 0004 <0002 | < 0.0005 s | 5
< 0004 < 0002 | < 0.0005
< 0.004 <0002 | 00009 64 |RXA
< 0004 <0002 | 0004 x0 | mm
< 0004 <0002 | 0.0054
< 0002 | < 0.0005 7| &R
< 0004 < 0002 | < 0.0005 oo | mm
< 0004 < 0002 | < 0.0005
<0002 | < 0.0005 10 | #A
< 0002 | < 0.0005 10 | #A
<0002 | < 0.0005 40 | %A
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wast G| wEe | 2D BAC Tavwn| v | e [xmom| mx [eka |74 ees | 0T | BEE| 00 | e,
HHFET | M-78 |00.6.05
BRET | M-81 |j20.6.05
W= | M-84 |jp06.03 < 0,002
REZE | M-ss |H20.6:24 < 0.002
H20.10.15 < 0.002
REERET| M-89 1190624
REEAR| Moo [H20.11.5 < 0.002
H20.12.16 < 0.002
REFE | M9 |joo6.04
#48 | m-101|H206.16 < 0.002
H20.10.7 < 0.002
RE | M-117{H20623 0.035
H20.11.4 0.039
THIET | M-11g{H20623 < 0.002
H20.11.5 < 0.002
A | M-123[H20.6.16 < 0.002
H20.10.7 < 0.002
8BS M-12811420.6.30 0.013
TU=RT | M-1291120,6.30 0038
SRILZEERET| M-131400.6.30 0.011
MR | M-1321190,6 20 < 0005
IR | M-133] 100630 < 0005
SEOET | M-135 4006 30 0027
£EAT [ M-136 400 6.30 0.007
EZ B | M-137 |4206.30 0,018
NEAT | M-138{4420.6.30 0027
SEYERT | M-139|1150,6.30 0018
BeATH £E | M-142{H206.16 < 0.002
H20.12.16 < 0.002
EE | M145]1006.16
LFER | M-149|H20.6.16 < 0.002
H20.10.7 < 0.002
L8 | M-150 |H20.6.16 < 0.002
H20.10.7 < 0.002
JNLUET | M-152 H20.6.16 < 0.002
H20.10.7 < 0.002
faE  [M-154 H20.6.16 < 0.002
H20.10.7 < 0.002
%z | m-155H20.7.2 < 0.002
H20.11.4 0.002
%z | m-160}H206:23 < 0.002
H20.11.4 < 0.002
®E | M-164 [H20.6.16 < 0.002
H20.10.7 < 0.002
BEEETSHI| M-166 | 14006 16 < 0.002
BEEETSHI| M-167 |400.6.16 < 0,002
FERRET | M-168 1100 6 95 < 0002
I\ | M-1691490,6.95 < 0002
BERAT [ M-170|y400 6.30 0.03
BAERRET | M-171 |00 6.6 0,012
BT | M-17211006 30 0,021
s EEET | M-173|400.6.30 0,037
THIIET | M-201 [H207.2
H20.10.6
wEmERRE| M-202 [H20.6.20
H20.10.6
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VA1L2=Y [ 11 A-FF 1, 1.2-F%] Mg | 7H5%0a | 1.3-V7 N BN = 2257 TR _ Fre=r) I HE
ponigLy| nnzgy | mhrsy | 1FLY 13y |onyoay FIOSL| DY g | N EY| LY | pees Ao% | 5% [m] A& e
< 0002 | < 0.0005 40 | A
< 0002 | < 0.0005 50 |TxA
< 0.004 < 0.002_| < 0.0005 40 | A
< 0.004 <0002 | 00017 0 | %
< 0.004 <0002 | 00012
<0002 | 00022 35 | #A
< 0.004 <0002 | 00023 s0 | %5
< 0.004 <0002 | 00016
<0002 | 00012 60 |EMA
< 0.004 <0002 | 0013 50 |wmum
< 0.004 <0002 | 001
<0004 | 00005 0.067 -
<0004 | 00006 0.086
< 0.004_| < 0.0005 <0002 | 00008 50 | #m
< 0.004_| < 0.0005 <0002 | 00006
0.007_| < 0.0005 0003 | 0011 50 |T#m
0.006 | < 0.0005 <0002 | 00092
50 | A
9 |#A
45 |Tm
131 |eraem
41 |Tzm
130 |gxagm
60 | A
o | #m
40 | #H
40 |#m
< 0.004 <0002 | 00012 S P .
< 0.004 < 0.002 | < 0.0005
<0002 | 0.0071 30 | %A
< 0.004 < 0.002 | < 0.0005 g0 | %5
< 0.004 < 0.002 | < 0.0005
< 0.004 <0002 | 001 g0 | %5
< 0.004 <0002 | 0012
< 0.004 0018 | 0064 o0 |axsem
< 0.004 0016 | 0066
0.007 <0002 | 0039 100 | %5
0.004 <0002 | 0033
< 0.004_| < 0.0005 0.003 105 |mem
< 0.004_| < 0.0005 0.004
< 0.004_| < 0.0005 < 0.002 59 | et
< 0.004_| < 0.0005 < 0.002
< 0.004 <0002 | 00005 10 |7em
< 0.004 <0002 | 0.0051
< 0.004 | < 0.0005 < 0.002 80 |#EA
< 0.004_| < 0.0005 < 0.002 TH | TxA
< 0004 | < 0.0005 < 0.002 037 T | %A
< 0.004_| < 0.0005 < 0.002 022 20 | #A
120 | 5
B | #A
41 <13
130 | %A
12 120 | 2R
47
14 150 |mm
14
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i HE K - o N N FILEIL oA | WEIE | 1.2-7 | 11—
R4 i X = #HH INUIN YTy £ NfiynL | fitHR KR KR PCB 1y %% | sonrsy |sonriLy

THRJIET | M—204 H20.6.20
H20.10.6

azmsEn| M-205 [120.7.2

H20.10.6

AT 5| M-206 [H20.6-20
H20.10.6

H20.7.2

RHEAABTR| M-207
H20.10.30

WEAT | M-208 |H20.6.20
H20.10.6

WEAT | M-209 [H20.6.20
H20.10.6

WEET | M-210 H20.6.20
H20.10.6

WEET | M-212 H20.6.20
H20.10.6

WEET | M-217 H20.7.2
H20.10.6

iRRAT | M-219 [H20.620
H20.10.6

KB EH | M-220 [H20.73
H20.10.30

iR | M-221 [H20.620
H20.10.6

SRAT | M-222 |H206.27
H20.10.30

BeAT WA | M-223 [H20.627
H20.10.30

WA | M-224 [H20.627
H20.10.30

=1 M-225 H20.6.27

H20.10.30

H20.6.27

RET M-226
H20.10.30

H20.6.27

RET M-227
H20.10.30

M5 AT | M-208 {120.6.27

H20.10.30

M5 AT | M-209 {H20.6.27

H20.10.30

AN ILIET | M-232 [H20.7.2
H20.10.30

AN ILIET | M-233 [H20.7.2
H20.10.30

A EREET | M-234 (120627
H20.10.30

A EREET | M-235 [120.6.27
H20.10.30

KB EHT | M-236 [H20.7.3
H20.10.30

K B2 | M-237 [H20.7.2
H20.10.30

& FImET | M-23g [H20.6.13
H20.10.17
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T Y \ WEEERRC[ - HERE B FE
YA12- | L1-M7 [11.2-M)5[ Mgna | Fh5onn | 1.3-07 sS4 o=y | TANY ~ot] e soE | 35% HE
ponrsby| morgy | oargy | ey | 13by |mmpoay| TR YRVY| G ERHIEER [m] T

14 G
14

98 120 |R2m
11

15 130 |wemm
13

12 14 |
12

1 15 |%Em
6.8

95 40 |#Em
8.7

14 80 |mmm
15

1 70 |T#m
8.2

15 8 |FfEm
13

12 80 |gxatm
14

12 150 |mxm
13

3.9 50 |gratm
36

6.5 1 | 5
7.1

22 30 |mam| A
20

4 20 |watm
42

19 aiE | #Am
7.4

88 18 |mmm
5.2

22 20 |Fmm
18

67 FE |#okm
7

3 60 |tratm
5.2

13 120 |mxm
11

36 16 |smm
3.1

5.7 150 |mm
6.2

58 T |
12

10 150 |m%m
12

10 g |mem
9.9

9.9 16 | %E
6.9
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i HE K - o N N FILEIL oA | WEIE | 1.2-7 | 11—
R4 i X = #HH INUIN YTy £ NfiynL | fitHR KR KR PCB 1y %% | sonrsy |sonriLy

#89mAT | M-230 [H20.6:13
H20.10.17

#EFIEET | M-240 H20.7.2
H20.10.17

BAYEAT | M-241 [H20.6:20
H20.10.17

BAYEAT | M-242 [H20.6:20
H20.10.17

BAYEAT | M-243 [H20.6:20
H20.10.17

wig% | M-244|H206.27

H20.10.17

TTiE T | M-246 [H206.27
H20.10.17

H20.6.27

MEFE |M-247
H20.10.17

Tig T | M-248 [H206.27
H20.10.17

FIRAT | M-249 [H20.6.27
H20.10.17

AmETTR| M-253 [H20.6:50

H20.10.31

SATABTAIRN| M-254 H20.6.30

H20.10.31

H20.6.30

SHRETAIN | M-256
H20.10.31

H20.6.30

SEIRETE R | M-258
H20.12.16

feAT | | AmErTe| M-250 [H20.6:50
H20.10.31

AT M-261 [H20:630

H20.10.31

AT M-262 [H20-630

H20.10.31

FRETAE| M-264 [H20-630
H20.10.31

sTRETSA2| M-265 H20.6.30
H20.10.31

TR | M-266 {120.6:30
H20.10.31

TR | M-267 {H20.6:30
H20.10.31

FIRETAE| M-268 [H20-6.26
H20.10.31

FIPETALE| M-269 [H20.6.26
H20.10.31

ARETEA| M-271 [H20.6:80

H20.10.31

RS | M-272 |H20.6.80

H20.10.31

H20.6.25

®E | m-301 [H20.99
H20.12.16

H21.3.10

H20.6.25

HE | M-302[H20.99
H20.12.16

H21.3.10
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Y \ WEEERRC[ - HERE B FE
VAL2=Y [ 11,1-M5 [1,1.2-F)7] M9an | FH590R "3?’?. FHsL| Ly :,;37]}—[:\?/ S e e = o oS
/ORIFLY| AAIZY onIgy IFLY IFLy  [AR7°EA™Y

55 2 | a5
3.9
8.2 T (R
8.5
44 30 |gum
45
1.6 0 |FEm
74
88 30 |#aEA
838
39 Fk |
10
6.7 70 |mm
7.2
42 0 | %8
54
68 Fk |mxm
6.9
8.6 110 |
86
12 70 |BEm
12
14 50 | %A
15
5.3 60 |kiEm
5.1
6.9 99 |mmm
6.9
17 160 |#esese| e
7.7
16 50 | %A
17
1 8 |txam
11
8.9 GBI (maemm
12
6.9 30 | %M
6.8
12 60 | A
12
36 60 | A
25
9.7 2 | %M
10
45 60 |#Tm
2.9
22 B | %
59
38 Bk |mm
28
< 0,001
< 0,001 S -
< 0,001
< 0,001
< 0,001
< 0,001 S -
< 0,001
< 0,001
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i HE K o o N N FILEL h0R | WMIRIE | 1.2-Y | 1,1-Y
THET A X E= #HH INUIN 2 £ NfiynL | fitHR KR KeR PCB 1y % | snnrsy |sonzLy

H20.6.25

L { m®  |wm-303[H20:9.9

H20.12.16

H21.3.10

H20.6.25
RE | M-3041110009

H20.12.16

H20.6.25

L =% | m-306[H20.99

H20.12.16

H21.3.10

H20.6.25

L { =% | wm-309 [H20.9.9

H20.12.16

H21.3.10

H20.6.25

H20.9.9

H ®H |M-310
H20.12.16

H21.3.10

H20.6.25

| == M-313 H20.9.9

H20.12.16

H21.3.10
INSFET [ M-315 1100 6.5

EOBT | M-316 10065
AT | M-317 00,65
3BT | M-318 o065
HI2ET | M-319] 110065
3BT | M-320 | o065
RED | M-321 15065
BHBIAT | M=3221490.6.6
BAERRET | M-323 |00 6.6
NEET | M-325|4100,66
NEET | M-326|4100,66
NEET | M-327|4100,66
NEET | M-328|4100,66
NEET | M-329 {41006
NOEr [M-331{419066
SEYERT | M-333 | o066
SEVERT | M-335|00.66
FEH | M-336|14506.6
SALEETAT| M-337 | 100,66
AL EET| M-339 | 100 6.6

H20.6.25

L m® | m-340H2009
H20.12.16

H21.3.10

H20.6.25

I =% M=341 H20.9.9
H20.12.16

H21.3.10
HH | M-342|506.25

FHUAET | M-343|H50.7.2
ER | M-3841006 95
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VA1L2=Y [ 11 A-FF 1, 1.2-F%] Mg | 7H5%0a | 1.3-V7 N BN = 2257 TR _ Fre=r) I HE
sonrzvy| mhzgy | mardy | 1Ry | 1Ry |mogoay| TOTE[VIIY| g | SHEY| BV |snmees| SOR | B3F |7 0| BB | L
< 0,001
< 0,001 6 |7um
< 0,001
< 0,001
0.019
0.008 8 |#KmA
0.006
< 0.001
< 0,001 s |xmm
< 0.001
0.015
< 0.001
< 0.001 52 |TEM
< 0.001
< 0,001
< 0.001
< 0.001 57 |FEM
< 0,001
< 0,001
< 0,001
< 0.001 6 oK
< 0,001
< 0,001
099 | o036 | 50 | #A
068 | o007 | FH |#OKA
094 | 035 | 50 | %A
70 |BMA
086 | 035 .
1 04 40 | M
12 041 | 55 |MER
097 042 | TH | %A
14 027 | FH | #A
14 026 | TH | %A
12 023 | TH | XA
082 | o028 | 65 | ¥A
0.89 031 | 70 | A
15 037 | TH | #A
12 035 | 10 | &R
1.2 0.23 30 |B%A
14 026 | 58 | XA
15 027 | 80 | #A
062 | o013 | 42 |MMA
] o | 48 |mam
092 | o046 | 45 |BRXA
< 0,001
< 0,001 P P
< 0,001
< 0,001
< 0,001
< 0,001 s |wokm
< 0,001
< 0,001
< 0001 60 |seEm
< 0001 60 |#oKm
< 0,001 65 | &M
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P % N = vhon | mEE | 1.2-Y T1-Y
ks [ s OB [ en] o | e [xmom| mx [ eka |[T0EY] e | 700 | BEE| 2 | e

B M-3 [H20.12.15
H21.3.11

BEE | M-12 H20.12.15
H21.3.11

AT KitEr | Mot3 [H2012.15

H21.3.11
=gMEENE| M-51 [Lo09 11
—RAHET | M-61 |50 9 16
ZRAREHT| M-62 |,100.9.16

RARRAL| M-31 |\190 9.05
ASRABTFHE| M-32 |00 995

EARTEFET M-33

H20.9.25
FTo#HFE M-1 o099 0015
e FTEHEE| M-2 |110000 ool
B|FTHE#£E| M-51 o099 0054
FTE#EEE| M-61 |1y9099
FTEEEAE M-62 |120.90 0.03
. SRETFE | M-31 |y00.9.11
SRETTE | M-51 {0916
AT BARET | M-31 |400,8.20
R M-3 1H20.9.11 -
FEM WE | M-33 |11909.11
it M-34 1H20.9.11
K /\fpiﬁmr M-10 [H20.8.28
HFET | M-12 ||100.808
R | M1 400820 or
FIRA | M2 |y908.20 oor
FRAR | M3 [4008.20 —
Al BEILE | M-31 |490.8.20
& A | M-41 1490 8 20 ool
h M-51 11190.8.20

SIFAF | M-52 [0.8.20
B|SEAETHL| M-3 [L008.28

A M-51 1420.8.20
A RIR M-53 120820

FRE | M-54 |1208 20
SEETIME| M-51 [00806
C|%EEIAL| M-52 |90.8.26
SEEETH#IK| M-53 |\400.8.26
EXRETRSE| M-51 |490.8.28
BEABTESR| M-52 (00808
BERETILS| M-T |po09 1 001
BREEAS]| M-2 119094 0018
BERETILE| M-4 [10091 o0
BERETE | M-5 [209.1
AR M-6 |H20.9.1
&8 M-7 |H20.9.1

g | D

[RAF M-2 1H20.8.26 oor
PRAT M6 1120.8.26 or
Al ®E M-7 1H20.8.26 oor
#RE M-8 |1420.8.26 -

AHF | M-31 |4208.26
Ehun THETDE| M-31 |1450 808
EHAUNFE| M-ST |H00.8.28

TIRETNERE M-52 H20.8.28

ERETNPB) M-53 1400 98

C| MBREJIE | M-31 [009.1
WKETE S| M-32 |1490.9 1
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I s S S e R A R e e e e e I s L
< 0.0005 <0002 | 00074 15 | A
< 0.0005 <0002 | 00069
< 0.0005 <0002 | 00057 78 | #m |\
< 0.0005 <0002 | 0005
< 0.0005 <0002 | 0001 78 | #m
< 0.0005 <0002 | 00011
37 6 | #XA
MRECIEE:
I8 T | A
52 7| #A
41 15 | %A
0.28 1o | &A
TH | #A
TH | #A
097 T | A
0.88 5 | T8
50 | #A
63 1o | &
o8 10 | A
5.4 10 | &AM
0.004 0002 | 0014 30 | #A
16 5 | &
16 14 | XA
078 4 | %A
0.14 6 | %A
0008 0004 | 042 8 | T¥
< 0,004 <0002 | 0045 70 | %A
< 0.004 <0002 | 0018 3 | I%
87 20 | %A
2 45 | T
34 0 | %A
12 80 | #A —
4 10 | &kA
001 | 081 2 | B
051 TH | A
58 5 | #A
4 0.6 40 | A
57 50 |taA
1 50 | #%A
088 70 | kA
a1 25 | #xA
60 | #xFA
60 | &xm
50 | #xA
14 12 | #A4
12 30 | A
14 70 | &RA
< 0,004 <0002 | 00088 T IE
< 0004 < 0002 | < 00005 200 | A
< 0,004 0035 | < 0.0005 4 | A
< 0.004 0019 35 | %A
10 85 | BkA
10 60 | A
15 0.13 100 | &
1 60 | A
15 70 | kA
19 16 | #A
8.7 46 | #XA
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i HE K - o N N FILEIL oA | WEIE | 1.2-7 | 11—
R4 i X = #HH INUIN YTy £ NfiynL | fitHR KR KR PCB 1y %% | sonrsy |sonriLy

HMLET | M=12 {490.0.25 < 0,002
KALET | M=13 |00 9 25 < 0002

- HMUET | M=14 | 490.0.25 < 0.002
KALET [ M=15 | 400 9 25 < 0002
HALET | M=16 {190.0.25 < 0,002
FAUET | M-21 [1100.9 95 < 0.002

HMUET | M-23 {490.0.25 < 0,002
FAUET | M-24 |11009 95 < 0.002

JLERE | M-26 |00.9.05 0.035

EiB M-28
=+ H20.9.25 0.007
TRENTFRE| M-81 |1490 925

BT M-82 11500 25
=4AAT | M-83 |Hp0.0.25
ERET | M-84 1190925

AXBHEL M-4 |1120.0.29 < 0.002

AEBMEL| M-5 |o00.29 < 0.002

AERBHAEL M-11 [1190 9 29
KRBT L] M-31 1420020
SEFBTIER| M-31 (11901015
SEFBTIER| M-33 [1190 1015

< 0.002

EXEM

HMERTE4E( M-10-1| 400 9 24 < 0.002

HBATERR| M-10-2{ 100 g 94 <0002

MBRTER| M-10-4 400 9 24 < 0.002

BRI M=10-5( 100 o 24
FHEM | [HEETAR| M-21 (1100924 0.01
FARBETAME| M-31 |1400.904

< 0.002

MIBTEEL) M-1 {20,929 0.011

D [mnErtsrE| M-2 |hogg29 0017

NIETEE| M-3 | 1o0.0.29

—oEmEs| M-1 (0011 < 0.002

—OEEES M5 20911 < 0002

—ommEst| M-51 400011
—DERT | M52 |pp09.11
Fa gk B’RE | M-52 |y00.9.11
P¥C | M-53 |Hpo.11
HAK | M54 |H20.9.11
RN | M55 |14209.11
C| ®EF | M-33 |h209.11

BRI | M-3 |100.10.6 Coms
Al KIEETR | M-4 |90.106 Coms
RERTHR| M6 400106 —
HHETHIE| M-31 |90 10,21
HHETAH| M-32 |1400 10,21
ARIAEF| M-33 |1400 1021

HREETRH M-34 |00 1021
E|BEBrEE| M-32 {4000.(1
HERECAA| M-1 |400.10.7 0.012
ERETAR| M-51 (1190 107
FH-TH| M-32 |110107
ERBTAIE| M-33 |00 107

REM

I | REaERE| M=31 [1100.9 24 0012
J|FHETABE| M-51 |00 10.7
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A R I I P i R I o e Il e el el s n Rl B
< 0.004 0.006 1 | A
< 0.004 0.011 25 | RA
< 0.004 0.008 20 | #RA
< 0.004 < 0.002 20 | #RA
< 0.004 0.006 30 | kA
< 0.004 0.003 30 | &AM
< 0.004 0.003 30 | kA
< 0.004 0.003 22 | A
40 | A
70 | kA
10 T8 | #RA
19 T8 | A
0.98 #955 | #XA
0.005 0.005 0.054 7| IX
< 0.004 < 0.002 0.003 4 | #A
< 0.004 < 0.002 0.01 4 | %A
098 1| #A
76 10 | gxA@
13 7 A
< 0.004 < 0002 | < 0.0005 0 | %A
< 0.004 < 0.002 0.0016 50 | #H
< 0.004 < 0.002 0.01 40 | #A
< 0.004 0.003 0.067 50 | A
42 | #H

16 30 | &M p—
85 | #A
80 | T¥
79 8 | A
< 0004 <0002 | 00006 70 | #A
< 0.004 < 0.002 0.0021 T8 | A

087 150 | &
0388 120 | 8kA
1 133 | #RA
53 8 |mxm
34 150 | #RA
0.65 T | R%A
42 15 | B

0.005 0.002 0.015 4 | #A
< 0.004 < 0.002 0.0016 T | A
0.004 0.002 0.0046 T | #A
4 7| A
034 5 | #A
18 6 | #A
081 60 | 3
56 2 | %A
20 | #MA
0.71 180 | #A
1 9 | XA
21 8 | #A
21 8 | #A
08 35 | #A
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wEri |2 wxe | R | FBK [pewn | vy o | Amons] #E | @k |ZVEN] pog | VO | BEE[ T2 [ 1

i 2| %AA8 k$8 4y % | yonrsy |yonIFLy
2@ | M81 190916
Al 2@ | M-82 0916
® | M-33 |Hg00.16
AB | M1 lHoo99 < 0.002
AE | M3 119099 < 0.002
o T T (P < 0002
EMEELR M5 |00 < 0002
B &% | M31 5000
AR | M51 119000
HLE | M52 |00
BE | M53 1099
HE M-54 | 12099
B& | M7 lhp0917 0.045
NEH | M12 |hoo0.17 0.029
HaE M-16 [14190.9.17 0.035
HE M-17 |120.9.17
M-18 1120.9.17
M-19 |1420.9.17
gom (Al em | H099
M-32 11420.9.9
ERAT | | REE/T| M41 |11500.16 0.005
FARSET Hk M-31 |1420.9.9
SN | M1 09,11
EEF | M2 |hp00.11
TH | M6 190826 < 0.002
SIE | M7 [90826 < 0002
TH | M-8 |H90.8.26 < 0.002
SIE | M-12 [1490.8.26 < 0002
STE | M-16 | 20.8.26 < 0.002
e T T P < 0002
STE | M-18 | 420.8.26 < 0.002
TEH | M-19 1490806 < 0002
STE | M-21 |00 826 < 0.002
TH | M-22 |4908.06 < 0002
STH | M-23 |420.8.26 < 0.002

Bl %E | M1 l099

K| M-81 11420801
K| M=32 |11208.01
HEARET FEI | M-51 |yo0.8.21
AH# | M52 |1p0,8.01
B | M58 1100801

Al —8 M-1 |H20.9.29
M| B[ AR | M-51 |40 104
[¢] TF M-51 [1120.10.1

AB | M31 ls00.16
fEMARET AE | M-32 |4o09.16
BR | M-53 |ug09.16
REK | M1 4093 < 0002
RK | M3 |09 < 0002
%5} M5 |1209.3 < 0002
- LK | M6 |09 < 0.002
%5} M9 |1209.3 < 0002
K | M10 [14p093 < 0002
REK | M-13 |00 93 < 0002
K | M14 140093 < 0002
T | M1 {00017 < 0.002
I\L#RET [B| T M-4 1H209.17 < 0.002

B | M32 [h909.17
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e [ T o oo e [ || e [l son [ wom [ ma | Ba
19 100 | &A
i 68 | A
11 9 |#A
< 0.004 <0002 | 0.0097 B IX
< 0.004 0002 | 0.0029 T | %A
< 0.004 < 0002 | < 0.0005 80 | T2
< 0.004 0.006 | < 0.0005 80 | T¥
44 B | #RA
17 17 33 | #A
14 9% | MM
93 T8 | A
a1 0 | #A
0.69 30 | #MA
20 | A
09 30 | &M
1 20 | #A
0.85 20 | #MA
18 30 | #A
1 32 | &M
15 60 | £XA
81 | T¥
8.1 40 | A
16 13 | #MA
1 60 | fxA
< 0.004 < 0002 | < 0.0005 30 | A
< 0.004 <0002 | 00032 20 | A
< 0.004 0.003 | < 0.0005 32 | %A
< 0.004 003 0.0096 5 | %A
0091 0042 | 0.092 T | #A —
< 0.004 0.004 0.0095 35 | #A
0012 0009 | 0015 30 | #A
0024 0023 | 006 32 | #A
0.045 003 0.12 33 | #A
0074 0057 | 025 T | #A
< 0.004 < 0002 | < 0.0005 43 | %A
0.98 20 | #XA
12 55 | &Rl
06 85 | @
0.09 042 40 | A
14 70 |#RatA
1 80 | &xF
28 o9 | axm
13 0 | #m
0.35 20 | =
11 4 | A
10 6 | A
30 12 | %A
< 0.004 <0002 | 0065 10 | #A
< 0.004 <0002 | 00024 10 | #A
< 0.004 <0002 | 0.0026 50 | #A
< 0.004 < 0.002_| < 0.0005 T | #A
< 0.004 <0002 | < 0.0005 46 | BRA
< 0.004 < 0002 | < 0.0005 8 | #A
< 0.004 < 0.002 0.0007 26 | #A
< 0.004 < 0.002 0.0008 89 | &R
< 0.004 <0002 | 00031 20 | ¥
< 0.004 < 0002 | < 0.0005 T8 | &RA
34 TH | #A
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+ [ HPE Bk < 7 < " FILFIL yoon [ mEE [ 127 | 11V
A || BB =| #gm WL [ YTy AffiNL| B | HKER 7 e PCB 1y %% | sonrsy |sonriLy
i M-1
SKINET | AfF—— H20.9.3 0.006
BE | M2 4003 0.006
FALET |B| &E | M-31 [4o08900
SRAT —E | M7 lu0a07
% RAKHT REH | M-31 o093
HhE | M-31
- i H20.9.9
BHhE | M-32 (4090
LT A BIZ | M-31 |Ho09.17
A £ M-1 |H20.9.16 < 0.002
L | M3 |4p0016 < 0.002
HSEYHET RER | M7 |4209.29 < 0.002
B| ®ER | M-15 |y209.29 < 0,002
RER | M-31 |1p09.20
B | M-31 114209.17
& M-32
S H20.9.17
ik | M-33 11209.17
Bl | M-34 [14900.17
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A R I I P i R I o e Il e el el s n Rl B
% m
18 | #MA
0.9 50 | %A
4.9 4 | #A
6.7 9 | KA
76 10 | M
2.1 7| #A
48 6 | #A
7.2 30 | #A
46 10 | M
< 0,004 < 0002 | < 00005 10 | #A AR
< 0,004 <0002 | 00025 11.22| %A
< 0.004 <0002 | 00005 50 | #xA
< 0,004 <0002 | 00005 10 | KA
23 12 |T*A
18 8 | #A
59 8 | #A
19 6 | &kA
12 6 | #A
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2-2 BRHEAFEIMEHEE (KR)

mrtt ig) exe | 25 | BN | PRRE | anons | s | anoey | thb | tae || P | i
RE K-2 |H20.6.23 < 0.0005 105 [F—rAm
R K-8 |H20.6.16 < 0.002 00007 | 40 |k#F
Y K-9 |H206.16 < 0.002 00005 | 50 | #A
0 K-20 |1420.6.17 <0002 | <00005 | 30 |3HA
R I T K-25 |H20.6.17 < 0.002 00026 | 200 |TXA
RE K=27 |H20.6.23 < 0.002 0.0007 | 65 |miTA
RAT | | KE K-28 |H20.6.23 00042 | < 0.0005 | 525 |wrm| BRAT
RE K~29 |H20.6.23 00042 | < 00005 | 66 |#i#TA
RHT K-31 |H20.6.17 < 0.0005 33 |#MTR
NEFHE | K51 |h90,6.17 < 0.002 | <0.004 < 0.002 00005 | 22 |TXA
=AR K=52 1H20.6.17 <0.002 | <0.004 < 0.002 00009 | 15 | #A
RER K-54 |120.6.16 < 0.002 0.0058 < 0.002 00039 | 65 |RXR
KT K-55 |120.6.23 <0002 | <0.004 < 0.002 0.001 13 | #H
BHEHR K-4 |H209.16 < 0.002 | <0.004 < 0.002 00015 | T8 | #H
AN BN K-107 |H20.9.16 <0002 | <0004 <0002 | <o00005 | FHA| A
Er K-109 [420.9.16 < 0.002 | < 0.004 < 0.002 0.0007 5 | #H
KERT | |RET K-104 |1120.8.28 <0002 | <0.004 < 0.002 00006 | 4 | A
2% |8 SHRTERT | K3 |H20.8.28 0002 | <0004 |<00005 |<o0002 |<o00005 | 22 | %A
SHARERS) K4 |H20.8.28 <0002 | <0004 |<00005 [<0002 |[<o00005 | 20 | KA |ERAER
BEFF | K1 [190.9.1 <0002 | <0004 < 0.002 37 | A
i | CBEFRK | K-2 |H209.1 < 0.002 < 0.004 < 0.002 5 | &H
IBERE | K102 |1490.9.1 <0002 | <0004 |<00005 | 0.004 5 | #A
R ET LB K-6 [H20.9.16| < 0.0002 TH | B%
FRiEET | BT K-101 [420.8.21 < 0.002 | <0.004 < 0.002 5 | %A
—a K103 |H20.6.12 < 0.0005 | < 0.002 S [
H21.1.8 < 0.0005 | < 0.002
Csm | Kot |H206.12 < 00005 | 0002 Bk | A
sy H21.1.8 < 00005 | 0.008 s
s K116 [H206.12 < 0.0005 | < 0.002 20 |@mm
H21.1.8 < 00005 | 0.004
s K118 [H206.12 < 00005 | 0.003 10 |smm
H21.1.8 < 00005 | 0.006
ZRAR| |ZRKA | K-101|4p093 0017 [ <0004 0.0017 | 0.007 4 | #R
R | | LB K-1 [H20.9.9 <0002 | <0004 |<0.0005 |< 0002 12 | #&H
K K-2 |H20.10.1 0.002 < 0.0005 106 | 8XH
HER | | K6 |H20.10.1 < 0.002 < 0.0005 L S PP
HIH K-101 [H20.10.1 <0002 | <0004 < 0.002 00018 | 65 | #A
JNE=L K-1 |H209.16 < 0.002 < 0.0005 6 | %A
h=EUE | it K-2 |H20.9.16 < 0.002 < 0.0005 no| %A
B|RER K-9 |H20.9.29 <0002 | <0004 |<0.0005 |< 0002 | %A
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2-3 RBEMRAEAR)

KHERX A-1 |H20.12.2 2 35 | KA
)10 A-3 |H20.12.2 3.9 43 | #XA
FE it A-4  |H20.12.2 10 65 | EXA
FE it A-6  [H20.12.3 22 30 | &XA
FE it A-T |H20.12.3 4.9 37 | XA
FFA A-8 |H20.12.3 1.4 T | XA
EHFTFTEL|l A9 [H20122 85 100 | #
IES:: A-10 |H20.12.3 48 70 | 8XH
JI1 & A-11 |H20.12.3 16 13 | 8XHA
IES:: A-12 |H20.12.3 9.3 56 | &XA
NI& A-13 |H20.12.2 2.5 48 | #XA
)& A-14 |H20.12.2 6 33 | BXH
oot A-15 |H20.12.3 5 97 | &H
P LLIET A-16 |H20.12.3 4.4 100 | £kH
FFA A-17 |H20.12.2 43 30 | &XA
B A-18 |H20.12.3 6.9 40 | #A
IKEF A-19 |H20.12.2 6.3 15 | #KA
. i}fii"’ A-19-2 [H20.12.2 1.6 108 | %M | rm
=R A-20 |H20.12.3 3.4 11 | %8
187k A-21 [H20.12.3 4 75 | A
LN A-23 [H20.12.2 14 7| A
KE A-24 |H20.12.3 6.1 28 | XA
=K A-25 [H20.12.2 45 15 | #A
mE A-26 |H20.12.2 14 40 | #H
RKERX A-27 [H20.12.2 9 45 | A
)& A-28 [H20.12.2 75 70 | &H
HR A-29 [H20.12.2 14 6 | #H
&1L A-30 |H20.12.2 4.9 14 | #A
EHF A-33 [H20.12.3 5 8 | A
AFH A-34 |H20.12.3 6.7 60 | 8XA
THH A-35 [H20.12.3 6.9 3 | #H
JI1 & A-36 |H20.12.2 15 53 | &XHA
T A-37 |H20.12.3 12 4 | £kH
FFA A-38 |H20.12.3 2.2 TEH | #H
)& A-39 [H20.12.2 11 10 | #H
3 A-40 |H20.12.2 1.8 30 | #MH
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3 FRAFREDHRAE(SK)

w2 e I P e e S S R e e
L] S-1 |H20.8.13 |< 0002 |< 0004 |< 00005 |<0.002 0.0061 |< 0.001 150 B®RA
Ti& S-2 |H20.8.13 < 0002 [< 0004 [< 0.0005 [< 0.002 0.0092 [< 0.001 751 HA
FHRAHRT S-3 |H20.8.13 |< 0002 |< 0004 |< 00005 |< 0002 [<0.0005 |<0.001 75.7 bidic]
FHAHT S-4 |H20.8.13 [< 0002 [< 0004 [< 00005 [< 0002 [< 00005 |<0.001 150 A
JKiERT S-5 |H20.8.14 [< 0002 [< 0.004 |< 0.0005 [< 0.002 0.0013 [< 0.001 60 b
T& S-6 |H20.8.14 |< 0002 |<0004 |<00005 |<0.002 [<0.0005 |<0.001 40 bidic
R ERT S-7 |H20.8.14 [< 0002 [< 0.004 |< 0.0005 [< 0.002 [< 0.0005 |[< 0.001 40 b
AT S-8 |H20.8.14 |< 0002 |<0004 |<0.0005 |<0.002 [<0.0005 |<0.001 70 bidic
LIEfT S-9 |H20.8.14 [< 0002 [< 0.004 |< 0.0005 [< 0002 (< 0.0005 |[< 0.001 50 b
Y BT S-10 |H20.8.14 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |<0.001 75 A
JKiERT S-11 |H20.8.14 < 0.002 < 0.004 < 0.0005 |<0.002 |< 0.0005 |< 0.001 ! b
JKEHET S-12 |H20.8.14 |< 0002 < 0004 |< 00005 |< 0002 [< 0.0005 |< 0001 19 HA
P/ SEL S-13 |H20.8.14 |< 0002 |< 0004 |< 00005 |< 0002 [<0.0005 |< 0.001 28 B®RA
R S-14 |H20.8.15 |< 0002 < 0004 |< 00005 |< 0002 [<0.0005 |< 0001 T8 HA
T& S-15 |H20.8.15 < 0.002 < 0.004 < 0.0005 |<0.002 |< 0.0005 |< 0.001 ! b
L T S-16 |H20.8.15 |< 0002 < 0004 |< 00005 |<0.002 [<0.0005 |< 0001 50 A
L) S-17 |H20.8.15 < 0.002 < 0.004 < 0.0005 |< 0.002 |< 0.0005 |< 0.001 ! b
hEFE S-18 |H20.8.15 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |<0.001 TH | #A
& S-19 |H20.8.15 < 0.002 < 0.004 < 0.0005 |<0.002 [< 0.0005 |< 0.001 ! HA
& S-20 |H20.8.15 |< 0002 |< 0004 |<0.0005 |< 0002 [<0.0005 |< 0.001 TH | #H
& S-21 |H20.8.15 < 0.002 < 0.004 < 0.0005 |<0.002 [<0.0005 |<0.001 ! HA
it $-22 |H20815 [< 0002 [< 0004 [< 00005 [<0002 [<00005 |<0.001 30 Gt
R S$-23 |H20.8.16 |< 0.002 < 0.004 < 0.0005 |< 0.002 [< 0.0005 |< 0.001 ! BRA
AR AT S-24 |H20.8.16 |< 0002 |< 0004 |<0.0005 |< 0002 [< 0.0005 |< 0.001 TH | #H
R S$-25 |H20.8.16 |< 0.002 < 0.004 < 0.0005 |<0.002 [< 0.0005 |< 0.001 ! BRA
FEHT S-26 [H20.8.16 [< 0002 [< 0004 [< 00005 [<0002 [<00005 |<0.001 60 KA
KT S-27 |H20.8.16 |< 0.002 < 0.004 < 0.0005 |< 0.002 |< 0.0005 |< 0.001 ! HA
& S-28 |H20.8.16 |< 0002 |< 0004 |<0.0005 |< 0002 [< 0.0005 |< 0.001 TH | %A

REAT T& $-29 [H20.8.18 [< 0002 [<0004 [< 00005 [<0.002 0.0041 < 0.001 103 KA |BEATH
it S-30 [H208.18 [< 0002 (<0004 00009 [< 0002 [< 00005 |< 0.001 30 A
REHT S-31 |H20.8.18 < 0.002 < 0.004 < 0.0005 |<0.002 [< 0.0005 |< 0.001 130 BRA
T& $-32 |H20.818 [< 0002 [<0004 [<00005 [<0002 [<00005 |<0.001 30 Gt
TEAHHET S-33 |H20.8.18 |< 0.002 < 0.004 < 0.0005 |<0.002 [< 0.0005 |<0.001 55 HA
FEH S-34 |H20.8.18 |< 0002 |< 0004 |<0.0005 |< 0002 [<0.0005 |<0.001 T | %A
HREHT S-35 |H20.8.18 |< 0.002 < 0.004 |<0.0005 |<0.002 [<0.0005 |<0.001 25 HA
ZD%h S-36 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |< 0.001 151 %A
L EET $-37 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |<0.001 TH | %A
FEH S-38 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |<0.001 48 %A
FEH S-39 |H20.8.18 |< 0.002 < 0004 < 0.0005 |<0.002 [<0.0005 |<0.001 TR A
KT S-40 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |< 0.001 T | %A
I&F S-41 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |<0.001 T | #A
NEF S-42 |H20.8.18 |< 0002 |< 0004 |<0.0005 |<0.002 [<0.0005 |< 0.001 T | #A
haF S-43 [H20819 [< 0002 [<0004 [<00005 [<0002 [<00005 |<0.001 T8 | #A
it S-44 |H208.19 |< 0002 |< 0004 |< 00005 |<0.002 [<0.0005 |<0.001 95 A
it S-45 [H20819 [< 0002 [<0004 [<00005 [<0002 [<00005 |<0.001 100 %A
it S-46 |H20.8.19 |< 0002 |< 0004 |< 00005 |<0.002 [<0.0005 |<0.001 92 A
it S-47 [H20819 [< 0002 [<0004 [<00005 [<0002 [<00005 |<0.001 50 %A
AR S-48 |H20.8.20 |< 0002 <0004 |<0.0005 |<0.002 [<0.0005 |<0.001 30 HA
ST S—49 |H20820 <0002 <0004 |< 00005 |<0.002 |<0.0005 [< 0.001 TH | #H
X5T S-50 |H20.820 |< 0002 |< 0004 |<0.0005 |<0002 [<0.0005 |<0.001 TH | #A
NEF S-51 |H20.8.20 < 0.002 < 0.004 |<0.0005 |<0.002 [<0.0005 |<0.001 80 %A
N S$-52 |H20.820 |< 0002 <0004 |< 00005 |< 0002 [<0.0005 |<0.001 ! HA
@ S-53 |H20.820 <0002 <0004 |< 00005 |<0.002 |<0.0005 [< 0.001 TH | #H
N S-54 |H20.820 |< 0002 <0004 |< 00005 |<0.002 [<0.0005 |<0.001 ! A
@ S-55 |H20.820 <0002 <0004 |< 00005 |< 0002 |<0.0005 [< 0001 TH | #H
it S-56 |H20.8.20 |< 0002 |< 0004 |<0.0005 |< 0002 [<0.0005 |<0.001 25 A
REX $-57 [H20.820 [< 0002 [< 0004 [<00005 [<0002 [<00005 |<0.001 100 %A
_FEAET G-5(S) |H20.12.9 72 [ <008 T | #A

AR | [4BED S-1_|H20.12.9 14 | <008 2 fidiil
- BHET S-2  [H20.129 16 < 0.08 5 A
B ET S-3  |H20.12.9 1.9 <008 8 HA
Bz G-1(S) |H20.12.8 < 0.01 27 T | #A |ERRR
=iz G-2(S) |H20.12.8 <001 2.8 ABH ;i

HEW | gz s-1_[H20128 2.3 02 I ES
Bz S-2 |H20.12.8 31 |<o008 TH | TH
=rHZ S-3  |H20.12.8 0.24 0.08 ERES]
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nern [5] mme | 22| EKT T | maen | s | ey | [ammenn] 5% | in | me | B

pEIb::1: G-3(S) |H20.12.10 < 0.01 34 50 A

SALSEET S-1_|H20.12.8 25 <008 6 A
EEH S SE T S-2  |H20.12.8 <001 0.31 65 R

ST SE T S-3  |H20.12.8 <001 0.73 100 A

ST ST S-4 |H20.12.8 036 | <008 5 #A

ST ST S-5 [H20.12.8 3 0.13 5 HA

b~ 5401 G-8(S) |H20.12.10 14 < 008 8 BR
rxEg| (KK S-1 |H20.12.38 24 0.13 TH | TH AR

AKX EFHT S-2 |H20.12.8 8.2 0.08 S ERES]

KX ErHT S-3 [H20.12.8 12 <008 B8 | 788

BARE G-4(S) |H20.12.10 18 < 008 10 A

BARE S-1_ [H20.12.10 038 <008 T8 A
FAE | |mAE S-2 |H20.12.10 6 <008 75 | #A

BAE S-3  [H20.12.10 9.1 <008 5 A

BAE S-4 |H20.12.10 7.2 < 0.08 5 Fiid;i
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